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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836767
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983671323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter that will come next in the given series.

D. G, JMP, ,
Options:

1.« Q

Question Number : 1 Question Id : 9983671323 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TR J@er # 3P T W A e 3HER 1 9hT Hl

DG J; M;P;,
Options:

1. = Q



Question Number : 2 Question Id : 9983671324 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter-cluster that will come next in the given series.

GYJ, HXK, IWL, IVM, .
Options:
1. « LUN

7 ¢ KUN

3. % KUO

Question Number : 2 Question Id : 9983671324 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Frafafea g@er 7 e T W A T HE-THE F 9T FH

GYJ, HXK, IWL, JVM,
Options:

1. = LUN



2. v KUN

3. » KUO

4. %= LTN

Question Number : 3 Question Id : 9983671325 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the following words as per their order in an English dictionary.

1. Ferocious 2. Ferrous 3. Frighten 4. Freight 5. Fiend

Options:
1. = 2.1,5,4,3

9 » 1,2,5:4,3
3 w 1,2,53,4

4. % 42,315

Question Number : 3 Question Id : 9983671325 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T @T o=l T 3= A HT H 394 FH & HTAR Tateyd Fi

1. Ferocious 2. Ferrous 3. Frighten 4. Freight 5. Fiend

Options:

i w2 1548



5 &+ L, B8RS

4w LEHGA

4w BB E9B

Question Number : 4 Question Id : 9983671326 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the following words in a logical and meaningful order.

1. District 2. Person 3. Family 4. Community 5. State 6. Country

Options:

1. =

|-
('S
=
LN
[—
oh

L
#
g
E-J

)
(¥
=
=

|-
L]
8
it
_h
o

4 v

Question Number : 4 Question Id : 9983671326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o el # T drfehes 3R HYGUT HF # aieud @l

1. 5o 2. =0 3. 9RER 4. THE 5. TT 6. T
Options:

1. » 549,106



2. % 29 %49,%6

4 o LEEZAE

4. W 2! 3! 4!-].'5:6

Question Number : 5 Question Id : 9983671327 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter-cluster that is different from the other three.
Options:

1 « FILQ

9 x IMQV

3. » EHLQ

v

A % LOSX

Question Number : 5 Question Id : 9983671327 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3 ET-HHE & I Y Al 3 didl eR-g ¥ Fed gl
Options:

1. « FILQ

2 % JMQV



3. % EHLQ

4. » LOSX

Question Number : 6 Question Id : 9983671328 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter-cluster that is different from the other three.
Options:

1. « CXUF

2. % QTG

HSKP

3.

&

4. v DWYA

Question Number : 6 Question Id : 9983671328 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

39 HeT-UHE & 99 Y Al Hed diAr JER-0Eg ¥ e g
Options:

1. = CXUF

2 % QJTG

3. » HSKP



4. ~» DWYA

Question Number : 7 Question Id : 9983671329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is different from the other three.
Options:
1. = Jupiter

? « Moon

3. # Saturn

4 = Mercury

Question Number : 7 Question Id : 9983671329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 EE F 9IS HL FA Feg O e § e g

Options:

2. v T
3. x uaf=r
4, « T

Question Number : 8 Question Id : 9983671330 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Cameraman’ is related to “Photography’ in the same way as *Choreographer’ is related to
Options:

1. # Actress

? « Dance

3w Stage

4 = Music

Question Number : 8 Question Id : 9983671330 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

50 TR TOER (GEUHT), ‘THET (HEREThT) § @efed g, 38 TR Foa-Hes (R

T Tl 32
Options:
1. = &=
2. & BT
3 % A
4. » @

Question Number : 9 Question Id : 9983671331 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the words share the same relationship as that shared by the given pair of words.

Anemometer : Wind
Options:



1. « Thermometer : Temperature

? % Odometer : Pressure

3 » DBarometer: Speed

4. » Humidity : Scale

Question Number : 9 Question Id : 9983671331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 e 1 797 ¢ A e 3/ IR H9Y WS 3 ¢ 98 9K & 910 aee-gew wEn & #

TATHIARRT : ElTﬂ"
Options:

1. « JRTAET : AT

2 % HEHEI : gEE

3w e A

4w HTEAT : SHE

Question Number : 10 Question Id : 9983671332 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Given is an address, which has been reproduced against the four alternatives. Of these, only one matches the given
address, whereas the others have some mistakes. Select the option that is exactly the same as the given one.

Hansen Technical Devices

C-728, CROM Tech Park, gth Building, Sector — 29B. Thane East, Thane, Maharashtra 400615, India



Options:

1. =

Hansen Technical Devices

C-728, CRON Tech Park, 8™ Building, Sector — 29B, Thane East, Thane, Maharashtra 400615, India

2. %

Hansen Technical Devices

C-728, CROM Tech Park, ot Building, Sector — 29B, Thane East, Thane, Maharashtra 400615, India

3. v

Hansen Technical Devices

C-728, CROM Tech Park, 8™ Building, Sector — 29B. Thane East, Thane, Maharashtra 400615, India

4 =

Hansen Technical Devices

C-728. CROM Tech Park, gth Building, Sector — 29D, Thane East, Thane, Maharashtra 4006135, India

Question Number : 10 Question Id : 9983671332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vs 9ar 5T & oW TR e 7 e vega e o B 5 @ S o fAwew RF T 9w
¥ A T ¢, Fah 37T d H FO I & 30 Feed F oama w S O GF v 99 % 7A 2

Hansen Technical Devices

C-728, CROM Tech Park, 8" Building, Sector - 298, Thane East, Thane, Maharashtra 400615, India
Options:

1. =

Hansen Technical Devices

C-728, CRON Tech Park, 8" Building, Sector - 29B, Thane East, Thane, Maharashtra 400615, India



2. =

Hansen Technical Devices

C-728, CROM Tech Park, gth Building, Sector - 29B, Thane East, Thane, Maharashtra 400615, India

3.

Hansen Technical Devices

C-728, CROM Tech Park, 8" Building, Sector - 29B, Thane East, Thane, Maharashtra 400615, India

4. =

Hansen Technical Devices

C-728, CROM Tech Park, 8" Building, Sector - 29D, Thane East, Thane, Maharashtra 400615, India

Question Number : 11 Question Id : 9983671333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five children are standing facing the stage in a single line. Rishabh is nearest to the stage. Vanya is standing ahead of
Priya and is NOT justbefore or just after Tarun. Kiara is standing just after Rishabh and Tarun is NOT standing near
Kiara. Who is at the end of the line?

Options:

1. «+ Tamn

2 x Priya

3. & Kiara

4 % Rishabh

Question Number : 11 Question Id : 9983671333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Tl I A 99 g=d A H 3N Jg FF TS gl KU AT F FIA9e Fwe gl Foar FAr F A
TEr ¢ AR T9r F 8 HET A1 IS 787 &) B muE F 3% 9w ¢ 3 g e & e
& TET ¥ 9T & 3T H wla 2

Options:



Question Number : 12 Question Id : 9983671334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the 5T day of the month is 4 days earlier to Friday. then what day will it be on the 7ad day of the month?
Options:
1. » Tuesday

? % Wednesday
3  Thursday

4], » Friday

Question Number : 12 Question Id : 9983671334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofr T8 F7 57 R AR & 4 R v ¥ O w0 a7 227 R, SefRa F @ #w @ aem

Options:
1. & HIEER



2. & T
4, « PP

Question Number : 13 Question Id : 9983671335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rachna is the only child of her parents. She introduces a girl to her friend and says, “She is the grand-daughter of my

son Kamal's sister’s father’s father-in-law.” How is Rachna related to that girl?
Options:
1. «+ Mother

? % Sister

Aunt

-
%

Niece

-
%

Question Number : 13 Question Id : 9983671335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIAT 39 ATA-RT Y THATT ToedleT 2] 98 W9 BT ¥ T oSy &7 I=d Ha ¢ 3T FEar 8
“TE AY AT FHAS FT g & Oar & THL F G 17 DA F FAY 3H T F W FH 7T H 7
Options:

1_¢H'IHT

2 = Sgd



Question Number : 14 Question Id : 9983671336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term in the same way as the second term is related to the first term.

OMEI : JLNP :: YWUS :
Options:

1.

TUXZ

8

7 v TVXZ

3 % TVYZ

4 = SVXZ

Question Number : 14 Question Id : 9983671336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 BweT # T = S S U8 ¥ 36 TR FEd 8, W R g 9E g 9% ¥ §efd 3§
OMKI : JLNP :: YWUS :

Options:

1. & "TUKZ

2. ¢ TVXZ



4. » SVXZ

Question Number : 15 Question Id : 9983671337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, JUPITER is written as JPUIETR. How will HONESTY be written as in that language?
Options:
1. * HNOTESY

i

7 » HNOETSY

3. % HNEOTSY

A. % HONETSY

Question Number : 15 Question Id : 9983671337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s AT oafas o & JUPITER =r JPUIETR & &9 & Br@r sar &1 38 sar & HONESTY =
&Fw &7 7 g Jen?

Options:

1. = HNOTESY

2.« HNOETSY

3. % HNEOTSY



4. % HONETSY

Question Number : 16 Question Id : 9983671338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If AU is coded as 21 and CAN is coded as 42, then how will READ be coded as?
Options:

1. = 620
2 & 360
3 = 205
4 = 30

Question Number : 16 Question Id : 9983671338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T AU =&F 21 & & H 3R CAN & 42 & &7 & #if2q f=ar 7ar g, ar READ =#r &8 &9 & #ifza

T FrTe?
Options:

1. = 620
2. v 360
3. x 205
4 = 30

Question Number : 17 Question Id : 9983671339 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In a certain code language. DOCK is written asgt 3587 and TYRE is written as 4261. How will ROCKET be written as
in that language?

Options:
1. = 658741

? % 638714

3.« 658714

A % 568714

Question Number : 17 Question Id : 9983671339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Hierides AT H# DOCK &r 3587 & &9 H 3T TYRE &I 4261 & &7 & for@r Sar g1 38T 97 &
ROCKET =r frm &9 # or@r smwem?

Options:
1. = 658741
2 = 638714
3. «» 658714
4. = 568714

Question Number : 18 Question Id : 9983671340 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Umesh, Vikram. Veena. Suman and Yash are five cousins. Suman is half the age of Vikram. Vikram is half the age of
Umesh. Yash is half the age of Suman. If Yash is 4 years old, then what is the age of Umesh?

Options:



Question Number : 18 Question Id : 9983671340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Aer, A, dom, gAEa 3T g 919 = AR-EE ¢ GRS AeH § 3 sy #r ) RwH sAv |
TR HTY T g1 A GAA & Al 3G F | ARG T 4 T g, A IHA H A e g2

Options:

1. = 8
2 = 1B
3. v 32
4. = 48

Question Number : 19 Question Id : 9983671341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two statements are given, followed by two conclusions labelled I and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements :

All trees are timbers.

All timbers are expensive.

Conclusions :

I All trees are expensive.

II. All expensive are timbers.

Options:
1. « ©Only conclusion I follows.

? % Only conclusion II follows.

3. % Both conclusions I and II follow.

4w Neither conclusion I nor II follows.

Question Number : 19 Question Id : 9983671341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&t e R a0 8, Fowem siqeror & fsnd | 3k 1| Reat & @y aRa §) Fye # 9oy A9 g,
T & T WHET: A FT ¥ BT 9dg 29 &, I8 Ty o F wyar # ¥ #iF 31 Fey, Fuar
FT Alfehes ®F ¥ HTEIOT FIA

Tt 93 FwiET 2
Tl SR ST 2

forssy -
. weT 9% wgHET

I @ ageT wwear &

Options:

5 Fael Ty | Taor e g

5 Fael faswy || 3gEI0T Far gl

T | 3 1| ST Y EROT A 2

3 7 ar Ty | 3R 7 & ey 1| 3rgEor war ¢

Question Number : 20 Question Id : 9983671342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two statements are given, followed by two conclusions labelled I and II. Assuming the statements to be true, even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements :

Some eggs are omelettes.

Some omelettes are bread.

Conclusions :

[.  All eggs are either omelettes or breads.

II. Some omelettes are eggs.

Options:
1. » ©Only conclusion I follows.

2 @ Only conclusion II follows.

3. # Either conclusion I or II follows.

A w Neither conclusion I nor IT follows.

Question Number : 20 Question Id : 9983671342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& Fya R ae § e ageror & e | A 1| Reat F 'y = § v # 5 A e, o
& 3 FATET; A9 FRE ¥ BT 999 8 &6, I T o & Fuat #§ ¥ Fi9 a1 Ty, suar #&+v
e T § HTHIT LA ¢

hel :

FC A3 AT 2
FC HHoT ¥ &

fors=e -

. @iy 32 o7 S RS & Ar 35 #
. FT AHAAT 372 B

Options:

% Faer sy | FHEIOT T gl

5 o Fael faswy || 3gEI0T Far gl

g TS | A s 1l e X E

3 a 7 difesewy | 3R 7 & s 1l 3egEeor wr B

Mental Ability?2
Group Number : 2
Group Id : 99836728
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :
Maximum Instruction Time:

Minimum Instruction Time:

Section Id :

Section Number :

Section type:
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99836768
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Question Number : 21 Question Id : 9983671343 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the number that does NOT belong to the given series.

5,917, 29,55, 65
Options:

L. w5

Question Number : 21 Question Id : 9983671343 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



3F TEIT & 994 Y Al &f 95 H@el ¥ Farod gl gl

5 8, 17,29 55, 68

Options:

1. = 5
2. = 2B
3. v 55
4 = 65

Question Number : 22 Question Id : 9983671344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the given pattern and identify the missing number.

Options:

1. = 64

2\; 67



3 % 9

A = 100

Question Number : 22 Question Id : 9983671344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& TS Mgia F FETTS L IR e FEA AT

Options:

1. = 64
2. «» 87
3 = 90
4. % 100

Question Number : 23 Question Id : 9983671345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that will come next in the given series.

7, 14; 33,70, 131, ;

Options:



ALY
®
=
L
—

2 % 190
3 % 218

4 » 222

Question Number : 23 Question Id : 9983671345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 HEAT FT TG H AT & TS ATAT A e T T AT

7, 14, 33, 70, 131, I

Options:
1. = 131
2 % 190
3 = 218
4, » 222

Question Number : 24 Question Id : 9983671346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number in the same way as the second number is related to the first number.

34 :204:: 17
Options:



49

(=Y
&

3 v 102

Question Number : 24 Question Id : 9983671346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@wmmﬁﬁmm@mmmammmmmmﬁ
Tefea 2

34 : 204 :: 17 :
Options:

1. = 49
T
3. ¢ 102
A = 346

Question Number : 25 Question Id : 9983671347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the numbers share the same relationship as that shared by the given pair of numbers.

520: 350
Options:



? % 350:49

3 & 222:130

Question Number : 25 Question Id : 9983671347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 foweT &1 =07 &, S0 Teard 56 geR d@9y ¥ S ¢ 9w R 3 fRd T dEa-geAt F
T HET HET FAr 2

520 : 350

Options:

1. = 125:30
2 % 350 :49

3. & 222 4130

4. % 25: 36

Question Number : 26 Question Id : 9983671348 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

When Sunaina was born, her father was 25 years older than her brother and her mother was 22 years older than her
sister. If Sunaina’s brother is 8 vears older than her and her mother is 5 years younger than her father, then what was
Sunaina’s sister’s age when Sunaina was born?

Options:



3 x 10years

4 % 30 years

Question Number : 26 Question Id : 9983671348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S GATAT H oA gﬂ,ﬁmﬁwmﬂ%‘ﬁ'ESaﬁa@ﬂaﬂTmﬁﬁﬁﬁﬁ'WQZZ ¥ &=
| afE GATar 1 o1 3EE 8 I T57 g AN 3 Al 58S AT F 5 I S ¢, A T GAGAT H
mg&n,ﬁs@%ﬁrw#a&q%ﬁraﬁ‘?

Options:
1. = 549
2. v 649
3 % 103y
4. % 30 a¥

Question Number : 27 Question Id : 9983671349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number-pair that is different from the other three.
Options:
1. = 9-28



? = 12-37

3. v 14-41

Question Number : 27 Question Id : 9983671349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3F TEO- TEE 1 994 F A 3T O gag ¥ B g

Options:

1. & 928
D & 1287
3. ¢ 14-41
A & T2ED

Question Number : 28 Question Id : 9983671350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number-pair that is different from the other three.
Options:
1. «+ 7-58

19-1

wn
- |

-2
&



3. % 23-184

A = 13-104

Question Number : 28 Question Id : 9983671350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3H TEO-THE & 997 &1 Al 37 dil Gog & Heet g

Options:
1. v 758

2 % 19-152
3. = 23-184
4. = 13-104

Question Number : 29 Question Id : 9983671351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following arrangement of letters, digits and symbols.

JSRTL#FM%P2@D8SQ&SSAE*6WT=>

What should come in place of the question mark (?) in the following series of characters based on the above
arrangement?

REIM2L. @QP.&AB,?
Options:
1. » ET*



2w ETE

e
#®
=)
N

]. v+ EWS

Question Number : 29 Question Id : 9983671351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e, T AR gdeT o AT SUSTT FT HegaOT FY
JSR7LAM%BXP2@D8Q&SSAE+6WT>

IRFT FIEYT & HUR W TAAH H7 Aeafaiad g@er F 99 [=ea (?) & T W 47 H=T 1ige?

R#JM2L @QP, & AS8?

Options:
1. & ET 3
2. & +TE
3 % 6>A
4. «+ EW S

Question Number : 30 Question Id : 9983671352 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a row of students, Mukesh is 8th from the right and Sonia is 8th from the left. When Mukesh and Sonia interchange
their positions, Sonia becomes l6th from the left. How many students are there in the row?

Options:



1. = 16
2?2 =% 20
3.v 23
4 w 25

Question Number : 30 Question Id : 9983671352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S-S T TF i H, HHT eV F 87 3 Wiffar a¢ § 89 TuE W g1 79 {qowr AR \fwan
TH-EEX F T A T TRATAT FS &, af WA F1 T a5 3 § 1637 & F1ar g1 I=d F

Options:

1. = 16
2. = 20
3. v 23
4. = 25

Question Number : 31 Question Id : 9983671353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the numbers share the same relationship as that shared by the given set of numbers.

(12, 30, 56)
Options:



1. = (16.40,70)

9 % (2,20,30)

3« (20,42, 72)

4 w» (10,22,5

Lh
I
—

Question Number : 31 Question Id : 9983671353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 ey #1997 &I f5TH IET0 34U 9T J9Y ST #1aT § 5T v F gEmat & TF A
AT H WS Hr ¢

(12, 30, 56)
Options:

1« (16, 40, 70)

5 & (530 48

3 o (20, 42, 72)

4 = (10, 22, 52)

Question Number : 32 Question Id : 9983671354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the numbers share the same relationship as that shared by the given set of numbers.

(7.22.67)
Options:



1 % (3.12,39)

. 16, 50)

)
%
w

3 o (9,28,85)

4 = (13,40, 120)

Question Number : 32 Question Id : 9983671354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 ey #1997 &I f5TH IET0 34U 9T J9Y ST #1aT § 5T v F gEmat & TF A
AT H WS Hr ¢

(7, 22, 67)

Options:

1. » @, 12 39)

5> » (5, 16, 50)

3 (9, 28, 85)

4 = (13, 40, 120)

Question Number : 33 Question Id : 9983671355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two signs need to be interchanged in the following equation to make it correct.

S—-10+12=xT7+1=79
Options:



1. «+ +and+

< and +

-2
#®

* and —

-
%

+ and =

-
%

Question Number : 33 Question Id : 9983671355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tafoaa GAT I 98T = & o 385H ¥ O &7 Thdr & ER TUETed HIaT e?

S-1W0+s2x7xli=T4

Options:

1. v = 3R+

5

2. %

Question Number : 34 Question Id : 9983671356 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If the operator ‘-’ is interchanged with >’ and the number *4° is interchanged with *5°, then which of the following
equations will be correct?

Options:
1. # 5x9-4=38



Question Number : 34 Question Id : 9983671356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE gaTes © F X' F o YR FEOT 4 F FEAT 5 & WY TEYeART 841 JT, af mearad
H ¥ ®iF 91 g0 JEr gem?

Options:

1. »« 5%x9-4=8

2.« -4 xB5=2

3. %« 5x4-9=7

4. v 4~5%x7=13

Question Number : 35 Question Id : 9983671357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If *%° stands for ‘addition’, ‘@’ stands for ‘subtraction’, ‘#" stands for ‘multiplication” and “&’ stands for “division’,
then what will be the value of the following expression?

12#8536&3 @4
Options:

1. v 104



Question Number : 35 Question Id : 9983671357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R S @ 3 S, ‘@' F 3 e, # F Y TOr HEw AR & T R FEw g A
frafafag 3ffegsa & /19 F17 2em?

12#8836&3 @ 4

Options:

1. v 104
Z. = 102
3. % 79
4 = 46

Question Number : 36 Question Id : 9983671358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A statement is given, followed by two assumptions labelled I and II. Read the statement and decide which of the
assumptions is/are implicit in the statement.

Statement :

“If vou come late again. I will dismiss vou.” — A womaun tells her gardener.

Assumptions :

I.  With the warning, the gardener may stop coming late.

II. Gardener had come late that day.

Options:
1. » Only assumption I is implicit.

2 w Only assumption II is implicit.

3 Neither assumption I nor I is implicit.

4. » Bothassumptions I and IT are implicit.

Question Number : 36 Question Id : 9983671358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue FUS eI T § e aEer | 3R || REw g@ g @ unone S g U @ 96 AR
v o & Fua 7 Fia @ aomaene &g 227

chel :

T Afgell HIA ARl § Fgr g, "FfE gH aERT T & Hw, a # R A @

. ST IAEST H, AN 3T ¥ HAT § I HRAT 2
Il. JTEr 37 BT &3 | 3T O



Options:

1.« *aw uror | kT 2

2« Hae 9ror || WEa 2

3. x o a urom | AR 7 & aror 1| fafgm 7

4, » | 3R = & amone AfgET B

Question Number : 37 Question Id : 9983671359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Imran started from point A and walked 15 m towards the south. Then, he turned left and walked 20 m. From there, he
turned left and walked 15 m. Finally, he turned left again and walked 35 m to reach point B. How far and in which
direction is point B from the point A?

Options:
1. = 15 m. east

? « 15 m, west

3 x 20m north

4 » 35m, south

Question Number : 37 Question Id : 9983671359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHUS & TS A @ =oer 3R faar s gfEer #r 3 15 m g% e fis, 37 ¢ Jr A 20 m
E:?maa”ﬁ,agm”ggaﬂ?wmﬂl%ﬁ,wmﬁ@ﬁ?maaﬁqﬁaﬁﬁﬁv%m
e T B, TU A ® R g7 R e T # &7

Options:



Question Number : 38 Question Id : 9983671360 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Six friends, K, L, M, N, O and P, are watching a match, sitting in the same row. L, M. O and P are girls and the rest are
boys. K. N and L are having ice-cream, whereas the rest are having peanuts. K, M and L are having coconut water,
whereas the rest are having milkshake. Which two among them are girls having peanuts and milkshake?

Options:
1. ®« LandO

? % NandO

3. « OandP

4 % MandP

Question Number : 38 Question Id : 9983671360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SERTKLMNONPwadmMmadsmdvecarwdiLM ok P =i g sk oy
@5+ g1 K, N 3R L 35EHE o1 @ § Fa7 99 Ferwer o 1§ g1 K, M 3R L @iRae 9= &1 @ §,
Tt A Feedis O 1@ 81 39 @ FiT & ar wsfEa Jawer @ @ g AR Fewds O @ 82

Options:



3. ¢ O33R P

Question Number : 39 Question Id : 9983671361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following are the qualifications required for selection to the Administrative Officer
post in a reputed education institution:

(A) The candidate must have completed an MBA (Master in Business Administration)
course with a minimum of 60% marks.

(B) The candidate must have passed the selection test with a minimum of 75% marks.
(C) The candidate must have secured at least 75% marks in the interview.

(D) The candidate must not be less than 25 years of age and more than 35 years of age
as on 1 April 2019.

If the candidate satisfies all the aforementioned criteria EXCEPT:

(I)  (A). but is a Certified Administration Professional (CAP) with 50% marks. the
case is to be referred to the Director of the Recruitment Comunittee.

(I) (B). but has at least 2 years” experience of working as an Administrative
Assistant and above, the case is to be referred to the Chairman of the
Recruitment Committee.

Based on the above information, decide the appropriate course of action for the
following candidate. You are not to assume anything other than the given information.

Sumana Chatterjee has completed her MBA course with 76% marks. She has been
working as an Administrative Assistant in a private company since December 2016. She
has scored 72% marks in the selection test and 75% marks in the interview. Her date of
birth is 27 November 1993.

Options:
1. % The candidate is to be selected.

? % The candidate is not to be selected.

3. # The case is to be referred to the Director of the Recruitment Committee,

A« The case is to be referred to the Chairman of the Recruitment Committee,



Question Number : 39 Question Id : 9983671361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Siafesd R0 e & wrafas JAEET & 9 & 999 & U HE9edF J9IaT HeAteiad 8

A. et I FgAaH 60% 3T & | MBA (AR 34 oeeiw wsfAfawnm) Tsusaqr sy fhar
g =ge

B. 3wl # Tu= Tl FuAaR 75% 3 & WY 3cdivr w99 ger aifge

C. el #F TR H =qAaH 75% 37 Haed ST~d T g =mfev]

D. st fr 31y 1 ¥« 2019 1 25 a¥ ¥ FA AR 35 a¥ ¥ Mo FF g =gy

It et e & dfaRea sWied wel Aest #F I0 FT §

() (A), g 50% 3R & WY Ts WATUF T8 SET (CAP)E, & 5§ #er #1 &7t 8T &
ReereE =t &9 FeT 2

() (B), g T& WerHiee Weee T H w4 2 9¥ I IEE Ao AT & T 1w H
FeE ¢, A 3§ ARG # Hdl WA & e F A5 0 2

IS FAEFENT F 3R W, et et & B gua & guife saenr @i w1 e &
TS A & FAREa P T WA TG T g

AT Fest 7 76% 3R F WY I MBA T fram g1 9 Rwew 2016 ¥ v S wuel F gumafae
TETH & ®F § #1 &7 @ 2l 3T 997 T8 F 72% 3 3K g & 75% 3% ureg & #
3T FATSTY 27 F987 1993 ¥

Options:

1« 3Tt & = R o g

Dy 3Tl T 9IS JE TRIT S g

3 « FH AHG F adr @Aty F R # S S 2



A o FH AAC & & @At F et # S =T 2

Question Number : 40 Question Id : 9983671362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following are the qualifications required for selection to the Administrative
Officer post in a reputed education institution:

(A) The candidate must have completed an MBA (Master in Business
Administration) course with a minimum of 60% marks.

(B) The candidate must have passed the selection test with a minimum of 75% marks.

(C) The candidate must have secured at least 75% marks in the interview.

(D) The candidate must not be less than 25 years of age and more than 35 years of
age as on 1 April 2019.

If the candidate satisfies all the aforementioned criteria EXCEPT:

(I)  (A). butis a Certified Administration Professional (CAP) with 50%
marks. the case is to be referred to the Director of the Recruitment
Committee.

(II)  (B). but has at least 2 years” experience of working as an Administrative
Assistant and above, the case is to be referred to the Chairman of the
Recmitment Committee.

Based on the above information. decide the appropriate course of action for the
following candidate. You are not to assume anything other than the given
mformation.

Farah Siddiqui has completed her MBA course via open school after finishing her
CAP course. She has secured 55% marks in her MBA examination and 75% marks
in her CAP examination. She has scored 65% marks in the selection test and 70%
marks in the interview. Her date of birth is 25 December 1992.

Options:



1. ® The candidate is to be selected.

? « The candidate is not to be selected.

3. # The case is to be referred to the Director of the Recruitment Committee.

A % The case is to be referred to the Chairman of the Recruitment Committee,

Question Number : 40 Question Id : 9983671362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v+ gfafsa @rer grus § wnaes 30Edr 98 & 999 & v 3e9gs dvaan Fafetag ar §

(A) szt T T gAaH 60% 3H F FY MBA (AR 4 o=y TsfAfReE) Todsa qU Jaed o
GESIEL

(B) 33Tl ® FOFAE TIF TUET F FAGH /5% HHN F TY 3caror 3T f5ar g =Rl

(C) 3+t i FETewR H =qaaH 75% 3 Haed g FohaT g =1fgu)

(D) wswreft 7 3mg 1 S 2019 F 25 I F Fw AR 35 3§ F How 7 @ =l

ofe seoedt =fof@e & wfofea s Fsfr J=eEst &1 @ @ &

(1) (A), Brg 50% 37T & WY T FAIOE TUTHS 9&ET  (CAP) 3ediior fRam &, af 5§ e &
sdr IR F e F &= F1 &

(1) (B), g T& THAFHEEIF F I H ~GAqA 2 a9 I 3HE Hw TAT & v F18 w1 @+
I 8, A1 36 AHA F Al WATT F 7ETET F AT A g

INFT FAFRT & JUR W, Aaiagsnged & B aga &1 g s FufiE #3119 &
TS FAFNT F HANTFT PIs Hed AT el oo gl

g FBERR & 39T CAP & IISTFAYY FA & ¢ ol gy & A ¥ 391 MBA g fRar
T 3T FTAT MBA & offe & 55% 3% ureg & ¥ 3t CAP uftew & 75% 3w ura v ¥ 3T
T ILET H 65% 3 T TETeFR H 70% 3HF ueg T § 3HEr FeRaY 25 fTEay 1992 T

Options:



1« 3Tt & = R o g

2 Tt # 9Ta JE TR S g

3 « FH AHG F odr wfafa F Feww # oSS S 2

A« FH AAC F & @A F 7emer S J= T 2

General Awarenessi

Group Number : 3
Group Id: 99836729
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 99836735

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 99836769

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 9983671363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a classical language?
Options:
1. ®# Hindi

2 % Gujarati

3. « Odia

4], » Bengali

Question Number : 41 Question Id : 9983671363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f=fofea # ¥ g O v ar==Tg g 27

Options:

2 » TR
3, » 3=
A, = ST

Question Number : 42 Question Id : 9983671364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tholu Bommalata, the puppet theatre is associated to which state of India?

Options:



1. ®« Goa
? « Andhra Pradesh
3 % Kerala

A % Maharashtra

Question Number : 42 Question Id : 9983671364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS STFHT, FEITET THT §RT & FE T ¥ FEfOd §7

Options:

Question Number : 43 Question Id : 9983671365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The terms Harmika. Yasti and Anda are associated to which architecture?
Options:
1. » Nagara Temple



2 Stupa

Vihara

i
%

Dravida Temple

e
%

Question Number : 43 Question Id : 9983671365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wi, afea AR 3T we =@ & @ &9 awg-Fer & wafag 27

Options:

1. « @R AT

2. v ¥O

4&:3{%3?4%1'

Question Number : 44 Question Id : 9983671366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the following is credited to be the founder of Fort William College at Calcutta?
Options:
1. « Lord Wellesley

? % Lord Cornwallis



3 & Lord Hastings

4. % Lord William Bentinck

Question Number : 44 Question Id : 9983671366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FolhcdT (3T FaFan) H B Fomy woe & gruws 77 4 FeeEe 7 v G G s 22

Options:

1. » @IS JorFer

2 % OIS PO

S_Wﬁm

4. «» w5 Bfows 3t

Question Number : 45 Question Id : 9983671367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
With reference to the Governance of Delhi Sultanate, which of the following was the department of religious affairs?

Options:
1. # Diwan-i-Arz

? # Diwan-i-Insha
3. # Diwan-i-Wakil

/1. « Diwan-i-Risalat



Question Number : 45 Question Id : 9983671367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEoelr Oodad & I8 & "y #, Te@a # ¥ Fi7 afds AFer ¥ gatag &emer ar?

Options:

4. o EEE-T-REwEd

Question Number : 46 Question Id : 9983671368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the highest institution of Panchayati Raj in rural areas?
Options:
1. » Gram Panchayat

? « ZilaParishad

% Nvaya Panchavat

4. » Panchayat Samiti

Question Number : 46 Question Id : 9983671368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATAT &S & TESr U9 $r matea gTer silF O 27

Options:




2, v [T IREE

3 x TOF T9Ed

A« 9IIg @A

Question Number : 47 Question Id : 9983671369 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which Article of the Constitution of India invites financial emergency on the ground of threat to the financial stability
of the country?

Options:
1. & Article 352

? w Article 350
3.« Article 360

4 = Article 368

Question Number : 47 Question Id : 9983671369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R F Hiaue F 5T 3=oc F HguR o 1 o e & @y 7 3= F 3R W ey
TR ST fRar srar g2

Options:

1 34@?&‘{352




I 34@?&‘{350

5, ¥I=0% 360

2 s 34@%2{368

Question Number : 48 Question Id : 9983671370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ankleshwar in Gujarat is famous for:
Options:
1. « oil field

2 w steel plant

textile industry

i
%

4' % muclear power station

Question Number : 48 Question Id : 9983671370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H e Fus e 9fée 82
Options:

1, v do &7

& 8

2« FEA HIA



3 x T 3EreT

OTHIUT FalT Tl
4., = 3

Question Number : 49 Question Id : 9983671371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an East Coast Port?

Options:
1. » Paradip
? % Haldia

3. # Tuticorin

4. « Kandla

Question Number : 49 Question Id : 9983671371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fTrfefae F ¥ Fi9 wF @ 787 s aE 3

Options:



Question Number : 50 Question Id : 9983671372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following pairs is correctly matched?
Options:
1. «» Nokrek - Meghalaya

? % Simlipal - West Bengal

Nanda Devi - Himachal Pradesh

-
%

Manas - Gujarat

e
%

Question Number : 50 Question Id : 9983671372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tafefaa # 9 9 @7 Jier 98 9 § A Grar 22

Options:

1. » @R - JFeT

2« TEFETS - 9R9H S

3w e &ar - FaEme s

4. % Hield - d'-__F‘\:"HI&'E

Question Number : 51 Question Id : 9983671373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In 1500 m race event, who amongst the following bagged Gold at Asian Athletics Championships 20197
Options:
1. ® Dutee Chand

? « PU Chitra
3. ® Gomathi Marimuthu

4 % Hima Das

Question Number : 51 Question Id : 9983671373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ufire vyefeay SRTafRes 2019 # 1500 m gz Tout &, F=o@a # ¥ Gas w=or
e W= fohar?

Options:

1, = SN

2 ¢ 9 g R

Question Number : 52 Question Id : 9983671374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In April 2019, who was awarded the *Best Sportsperson’ by the Calcutta Sports Journalists Club?

Options:



1. ® Smriti Mandhata

? % Karuna Jain

3 Dipa Karmakar

A Jhulan Goswami

Question Number : 52 Question Id : 9983671374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 2019 H, Feolehed TACH STAToFeH Ford AN 9FC FCHIOS & TEPN b8 e 71am?

Options:

2 % FHUT A

Question Number : 53 Question Id : 9983671375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Pradhan Mantri Jan Dhan Scheme was launched?
Options:
1. «+ 2014



2 % 2016

3 % 2013

A % 2018

Question Number : 53 Question Id : 9983671375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUTHAA O T R T AT Hr T A7

Options:
1. « 2014
2. = 20186
3. = 2013
4. = 2018

Question Number : 54 Question Id : 9983671376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kesar, Neelum. Langra are the varieties of which fruit?
Options:

1. ®# Guava

2 & Mango

3 x Apple



4 % Lichi

Question Number : 54 Question Id : 9983671376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
1. = 3A®G
2. v HH
3. = ®

4, = o

Question Number : 55 Question Id : 9983671377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pradhan Mantri Vaya Vandana Yojana is flagship program of which Ministry?
Options:
1. « Ministry of Finance

2 % Ministry of Commerce

3 » Ministry of Rural Development

4. % Ministry of AYUSH

Question Number : 55 Question Id : 9983671377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



QUTAHAT I FEAT u‘mmmmmwmm%‘?

Options:

G ;
1. v Tdcd HAEE

2w go=" JF6T

3« T e AJ e

Question Number : 56 Question Id : 9983671378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following glands produces growth hormone?
Options:
1. « Pituitary

? % Adrenal

3 x Thyroid

4. % Pineal

Question Number : 56 Question Id : 9983671378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao & o7 O 9 i gfa & scea = 872

Options:




Question Number : 57 Question Id : 9983671379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a person CANNOT see nearby objects distinctly but can see distant objects, it is called:
Options:
1. » myopia

? . hypermetropia
3 u Ppresbyopia

4. » diplopia

Question Number : 57 Question Id : 9983671379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SF IS Oiea Fwe Ff Tegal # TIC T ¥ AgF ST Wbl [hg g3 $T LI F 3@ THAT g, af 34
g A F F7 § =T ST 82

Options:

1. = @O



Question Number : 58 Question Id : 9983671380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Vienna Convention of 1985 was called for the protection of:
Options:
1. « ©zone layer

2 w tigers

3. # ftribes

biosphere reserves

4.

&

Question Number : 58 Question Id : 9983671380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1985 &7 AT GERTATs T & o smafea foRar am=r ar?

Options:

1. v AT T & T

2 « aErF v



3.« SHeigar F e

4. « ShSFsda 951 & R

Question Number : 59 Question Id : 9983671381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Wildlife Institute of India is situated at:
Options:

1. #= Indore

? « Dehradun

3 u Bengalum

4] % Delhi

Question Number : 59 Question Id : 9983671381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T <9 95U g =a W g 22

Options:




Question Number : 60 Question Id : 9983671382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From where did India’s PSLV-C435 successiully launched EMISAT on April 1. 20197
Options:
1. » Chandipur

2. « Sriharikota
3 » Thiruvananthapuram

4], % Digha

Question Number : 60 Question Id : 9983671382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 309 2019 H 9RT F PSLV-C45 & EMISAT &I &gl & Fhelaias Faid fhar or?
Options:

1. = W'ﬁ

2 AENERET '

3 % ﬁﬁﬂ?&?ﬂﬁ

4, » dETH



General Awareness2

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

4
99836730
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0
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No
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No
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0

0

General Awareness?
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Section type:
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Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

99836736
1

Online
Mandatory
20

20

20

1
99836770
Yes

Question Number : 61 Question Id : 9983671383 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Who has been appointed as the new chief minister of Goa after the demise of Manohar Parrikar?

Options:
1. » Saroj Patra

? « Pramod Sawant

3 x Sanjeev Rawat

4. » Rameshwar Ojha



Question Number : 61 Question Id : 9983671383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAET e & e & 3% o & A¢ FeuEs ¥ w9 # R fAgwa fer e 2

Options:

1. « TUS 9= FH

2. v 9HIG HEd &

3 % Hg TS F

Question Number : 62 Question Id : 9983671384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Ministry of Commerce and Industry has come up with the Mascot of Intellectual Property Rights, known as:
Options:
1. «+ IP Nani

? % IP Mami
3. % IPBhai

4 = IP Chachi

#

Question Number : 62 Question Id : 9983671384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT 3T HAew, Sifes wuer AfUERT & st F WY H4T g, S F T H AT
T
Options:




1 o 3 aEr (IP Nani)

2y HEE AT (IP Mami)

3« HEHr &% (IP Bhai)

A« 3 == (IP Chachi)

Question Number : 63 Question Id : 9983671385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cities has been chosen by the UNESCO as the World Book Capital for one vear?
Options:

1. & Cairo
? # Tel Aviv
3. % Manama

4. » Sharjah

Question Number : 63 Question Id : 9983671385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAEH ganT faeafefla # & fFg o & wF a¥ & v foeg qvas Teuel & w9 A I o g7
Options:

1. = I (FIE)



4. » ¥IRTE

Question Number : 64 Question Id : 9983671386 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Recently cabinet approved the MoU between India and Vietnam on joint issue of postage stamp. Apart from Sanchi
Stupa, which monument is depicted in the stamp?

Options:

1.

Borobudur

&

2 % Angkor Wat

2 % Bagan

4. » Pho Minh Pagoda

Question Number : 64 Question Id : 9983671386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & H ATHESH o 5% fEFe F WYFT AT W ARA 3R Bagaw & &= gFsiar 99 & S
& 37 ftwe & @ =9 & afofea, e = &1 e o 22

Options:



3w A

4 o B Aeg gene

Question Number : 65 Question Id : 9983671387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following bhakti saints wrote Amrutanubhav?
Options:
1. & Kabir

2 w Chaitanya

3.« Inaneshwar

4 % Mirabai

Question Number : 65 Question Id : 9983671387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W(jﬁﬂﬂ}ﬁwmmﬁﬁmﬂﬁﬁﬁﬁﬁﬂiﬁ?

Options:

1. & FER

3_5\_,4' ATT2aT



4, » FRET

Question Number : 66 Question Id : 9983671388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Vikramshila University was established by:
Options:
1. » Kumarapala

? . Dharmapala

3 x Adipala

4], » Udayakala

Question Number : 66 Question Id : 9983671388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yiae Swatier feafecaea Fas garr it Bar s.r ar?

Options:

2 o UHEUTS

Question Number : 67 Question Id : 9983671389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which Harappan craft producing site was famous centre of shell-cutting and seal-making?
Options:
1. + Chanhudaro

2 x Kalibangan
3 % Rakhigarhi

4 = Banawali

Question Number : 67 Question Id : 9983671389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTOUT TSI @1 fAreT-wen :qummmmaﬁTﬂﬁrmﬂm#iﬁ?

Options:

1, v FFW

Question Number : 68 Question Id : 9983671390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which clan Gautama Buddha was born?
Options:

1. % Parashara



2 . Sakya
3 w Bharadwaja

4]. » Kaundinya

Question Number : 68 Question Id : 9983671390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?ﬁﬁﬂgﬁ%m%ﬁtﬁgmm‘?

Options:
1. % 9NN
2. v W

3, =
4. = ivssg

Question Number : 69 Question Id : 9983671391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The book “Indian War of Independence -1857" is authored by:
Options:
1. ®# Romesh Chandra Dutt

? . Vinayak Damodar Savarkar



3 » Dada Bhai Naoroji

4. » Gopal Krishna Gokhale

Question Number : 69 Question Id : 9983671391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

230 aX HTF 3303w - 1857 AHe JFa® & TF FidA 87

Options:

1. = AT =I5 Scd

2 o FEEEs g "JEet

3. = greT A5 AR

4 @ AT FSUT T

Question Number : 70 Question Id : 9983671392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The full form of regional party DMK is:
Options:
1. « Dravida Munnetra Kazhagam

2 w Dakshina Munnetra Kazhagam

3 Divasam Munnetra Kazhagam



4. » Daivam Munnetra Kazhagam

Question Number : 70 Question Id : 9983671392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8191 gof DMK & 90T T&9&9 47 g7

Options:

1. »

2%ﬁmﬁﬁ?m

™ L
d
7 IGTEH HAH FEH

4 = é_dﬂ'djr!ﬂ FSITH

Question Number : 71 Question Id : 9983671393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was conferred upon the title ‘Father of Lok Sabha’ by Pandit Jawaharlal Nehm?
Options:
1. » Neelum Sanjiva Reddy

? « GV Mavalankar
3 » Hukam Singh

4. % KSHegde

Question Number : 71 Question Id : 9983671393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



qf2d AAELeNd A% ARl ‘&l TWHT AAeh I 3T T vl ToAag fohar mam or?
Options:

1 & o g T

Question Number : 72 Question Id : 9983671394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who signed the proclamation of Emergency in 19757
Options:
1. « VVGiri

? % BD Jatti

3« Fakhruddin Ali Ahmed

4. % Giani Zail Singh

Question Number : 72 Question Id : 9983671394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1975 A HUTcaTer T OiyoT o fohaer gaameT & 972

Options:

1. = @rdn @R




Question Number : 73 Question Id : 9983671395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Census 2011, which state has highest literacy rate after Kerala?
Options:
1. # Goa

? « Mizoram
3 u Iripura

4. » Meghalaya

Question Number : 73 Question Id : 9983671395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¥ 2011 & FA0ET F 3ER, T & ¢ g T=T H gatas JeRar &7 87

Options:




Question Number : 74 Question Id : 9983671396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT matched correctly?
Options:
1. # Kolleru - Andhra Pradesh

? % Chilika - Odisha

3. ®& Wular - Jammu and Kashmir

A« Vembanad - Karnataka

Question Number : 74 Question Id : 9983671396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafofaa & & #i9 T8 297 & 7 A1 T g7

Options:

1. = PT - AT U

2y TEfeET - fEer

B o TR - \:ria-ai}ﬂl"ﬂ?&ﬁl'{



Ad. » TFEATS - FACH

Question Number : 75 Question Id : 9983671397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Srinagar, the capital city of Jammu and Kashmir is situated on bank of which river?
Options:
1. # Beas

? « Jhelum

3. ® Chenab

4. % Shyok

Question Number : 75 Question Id : 9983671397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 AR FeAR B T AR R FEGr F de W A g2

Options:

1, = ==

2. v WA

Question Number : 76 Question Id : 9983671398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who was the first Indian sprinter to win gold medal at U-20 World Championships in 400 m event?
Options:
1. ® PT Usha

? % Tintu Luka

3. « Hima Das

4. » Seema Singh

Question Number : 76 Question Id : 9983671398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U-20 e SRT=ficg $r 400 m sfazTur # 90T 95+ Jiaa I 980T dRGT 9EF & o2

Options:

1. & drér 3=
5 feg T

4, «» W HE

Question Number : 77 Question Id : 9983671399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which city has been awarded the 2024 Olvmpics?
Options:
1. » Los Angeles



7 % Las Vegas

3 x Lyon

4 « Paris

Question Number : 77 Question Id : 9983671399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T BT F7 2024 ATF & B =g &ar 7 22

Options:

1. = @@F Tafew
2w oH FMH
3. % =&
4., v 9"

Question Number : 78 Question Id : 9983671400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Ministry is responsible for implementing Atal Bhujal Yojana?
Options:
1. « Ministry of water resources, river development and Ganga rejuvenation

? % Ministry of Environment, forests and climate change

3 u Ministry of Housing and Urban Affairs



4. % Ministry of drinking water and sanitation

Question Number : 78 Question Id : 9983671400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTA e AAAT 6] A & [T hid T FAIAT SeoRardr 82
Options:
1. » 6 O, 767 A8 TF T A0 HAed

- [4 *
9 G0N, IF U Ferdrg TRade A

3. w HEE TF M@y AFG & HIod

4, = UISAS TF FHOAT AT

Question Number : 79 Question Id : 9983671401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Regulatory indicators of sustainable energy (RISE) is released by which of the following organisations?
Options:
1. =« UNDP

? « World Bank

3. & World Economic Forum

4 s WTO

Question Number : 79 Question Id : 9983671401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T FAT F FaEE ¥Fas (RISE) Rm=Rf@a F @ Bw ees arr I e o 22

Options:

1 & Temsrd
o S frem &

3« T afds A9

% Seog 2l 3T,

Question Number : 80 Question Id : 9983671402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following regarding GST is correct?
Options:
1. » GST council is a statutory body.

2 GST Network was formed under Companies Act.

3 x Centre holds 100 per cent stake in GST network.

4 = 100%™ Amendment introduced GST in the country.

Question Number : 80 Question Id : 9983671402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATES (GST) s Ty A R fs e Fla o a8 &7

Options:



1« SHCHEE (GST) 9R¥e vk Faenfes & g

2. ¢
TS (GST) AT (Fcae) & ST H9aAr JA=TH F 3799 F 53w amar o)

3« SCHEr (GST) WMol (Fca®) H g &1 sEERT 100 wiaerd gl

4w 100 F WU & g & Sfewer (GST) w9y, foam

Arithmetic Ability1
Group Number : 5
Group Id: 99836731
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 99836737
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1



Sub-Section Id: 99836771
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983671403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P e ; F .
The number 1.272727.... in the form — where p and q are integers and q £ 0 is:
q

Options:

14
2, o 11

14
13

ad
b

14
15

s
b

Question Number : 81 Question Id : 9983671403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 1.272727 wm%#mﬁmm,aﬁpaﬂ?qw;“mq:n%?

Options:

1.

14

14

14



Question Number : 82 Question Id : 9983671404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 1 1 1 "
The value of R e S Lo 1 E K
4—/15 v15—/14 Vvi14—y13 v13—12 Vv12—y11
Options:
1. = 1
7 w 3+v1l

3. v 4+4/11

4, = 5+V11

%

Question Number : 82 Question Id : 9983671404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 1 1 1 2
o +—————+ ——— & A Aaeiag 8 ¥ &8s e &7

4—J15 1512 1413 1341z  1z—11 o %-9

Options:

1. %\‘ 1

5 & 34

3. ¢ 4411

4. = 5++11

Question Number : 83 Question Id : 9983671405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.3 X 0.3-0.03)(0.3 x 0.3+0.01)7* is equal to:

Options:



Question Number : 83 Question Id : 9983671405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.3 x 0.3-0.03)(0.3 X 0.3+ 0.01)! = A= F=fEa 7 T s sy &7

Options:
1. = 0.006
2 % 0.06
3, v 06
4, = 6

Question Number : 84 Question Id : 9983671406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.64 + 1.096 —0.59 is equal to:
Options:
1. = 1.443



2 % 1.343

3 % 1.243

4. ¢ 1.143

Question Number : 84 Question Id : 9983671406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.64 + 1.096 — 0.59 =" A faeaoag § § Fos st 27

Options:
1. = 1443
2 % 1343
3 = 1243
4. » 1143

Question Number : 85 Question Id : 9983671407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an irrational number?

Options:

1. « V0.0027

2 % 1/0.0081



3 % 0.00032

4. » V0.000729

Question Number : 85 Question Id : 9983671407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ &9 & 39@T 9= 82

Options:

1. » V0.0027

2« 30.0081

3. = 0.00032

4. = V0.000729

Question Number : 86 Question Id : 9983671408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let N = 1420 * 1423 * 1425. What is the remainder when N is divided by 12?
Options:
1.« 0



#®
=)

4.

Question Number : 86 Question Id : 9983671408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o & N = 1420 x 1423 x 1425 & a7 N =7 12 ¥ Fanfea s=xa W 99w Brgar gem?

Options:

1. ¢ O

2. % 2

Question Number : 87 Question Id : 9983671409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.355—05 x 091 +0.823
0.208 + 0.515

The value Df( ) X 0.57 is equal to:

Options:

1. » L

N

b
-

/il

Question Number : 87 Question Id : 9983671409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(0.355 — 0.5 X 0.91 % 0.323) % 0.57 Hmmﬂ@mwg?

0.208 + 0515

Options:

T. ® 15
2, ® 1
3 « 088
4., » 057

Question Number : 88 Question Id : 9983671410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of 29 —[25—- {6 +2 0f (7 +9 — 14) }] is equal to:

Options:

1. =

)
;J"l

Question Number : 88 Question Id : 9983671410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

29-[25-{6 = 20f (7 + 9 — 14) )] & 7= A=aEa § ¥ Fus syt &7

Options:



3 & b5

Question Number : 89 Question Id : 9983671411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

-
x 3 Vv 10 = it

= and = ‘thevalusof- —— I
¥ 5 z 9 ==

Options:

1. «+ 26

? % —1.6

3. % 16

4 = 26

Question Number : 89 Question Id : 9983671411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
2

2
3 v 10 xc+z
I = HRZ=— &L @ 55 F A & gem?
Options:

1. ¢ 26




Question Number : 90 Question Id : 9983671412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of _g 25 4+ ?'51 1s equal to:

Options:
1. = 9.

LN

2 & 925

Question Number : 90 Question Id : 9983671412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

—8.25 + i FT AT FwT § ¥ &Fgs a9t 22

Options:



2. & 925
3 = 9.0
d. & 875

Question Number : 91 Question Id : 9983671413 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

3 i - 1 st 2 :
A man spends : of his salary on food. - on rent and 3 of the remaining amount on conveyance. If he is left with

¥ 1.250, what is his salary?

Options:
1. = T8712.

Lh

2 o T78125

N
&®
Y
-]
Lh
Jh
[
]

Question Number : 91 Question Id : 9983671413 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

waﬁﬁmﬁﬁaﬂzﬁr% frrmr e WY,

1
3

%mﬁw@w,ﬁraﬁﬁnﬁmiﬁmaﬁﬁw

Td FAT €1 N 3 H & &G 87 38 9 T 1,250 F AR I I §, & IHH FA aaA Tohe

uqr?
Options:



1 % T87125
2 ¢ T78125
3« TI765

4 = T 75125

Question Number : 92 Question Id : 9983671414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i 2 B 8
The HCF of —,—,—and — is;
2te g 9

Options:

1. ¥ 360

Question Number : 92 Question Id : 9983671414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= Egamg T AegcaH TATIGSS [haer grem?

2
Options:



1. & 360
2 % 180
1

:|:~..
a}
T
=

Question Number : 93 Question Id : 9983671415 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What is the sum of the digits of the least number which when divided by 6, 15. 36 and 75 leaves the same remainder 3
in each case and is divisible by 117

Options:
1. = 6

Question Number : 93 Question Id : 9983671415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FRRT s g o g g = 11 o Remsw ¢ sk 5@ 6, 15, 36 3w 75 @

ST & 9 Y 917 3 A9He HTTAm?
Options:



3 ¢ 12

Question Number : 94 Question Id : 9983671416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LCM of two numbers is 385. HCF of these numbers is 5. If the sum of the numbers is 90, find out the difference
between the two numbers.

Options:
1. = 10

Question Number : 94 Question Id : 9983671416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

& HEAT3! F1 Fecad FAade 385 AR FEca® FAMEC® 5 gl IS wEmnat & aer 90 g, & a
TEarst F €= 7 AT Gaar gem?
Options:

1. = 10




Question Number : 95 Question Id : 9983671417 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A earns ¥ 750 per hour and works for 5 hours. B earns ¥ 840 per hour and works for 7 hours. Find the ratio of their per
day wages:

Options:
225
1, o 196
196
7. % 125
a0
3. % 193
38
4. = 1s0

Question Number : 95 Question Id : 9983671417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TITB0 HNT FAT g I TS TE FA FAT &l B T840 ¥ Far ¢ I Ig 7 ¢ =R
FIT £ 3 gt & S foa r A=l #1 sgaa fraer gem?

Options:

125
1. v 196



196

150
3. % 193
123
4 = 150

Question Number : 96 Question Id : 9983671418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a library, the ratio of the number of mathematics books to that of statistics books was 4 : 3 and when 12 more
mathematics books were bought, the ratio became 5 : 3. Find the number of mathematics books.

Options:
1. = 60

3\; 48

A % 40

Question Number : 96 Question Id : 9983671418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk GERO H, WG TEa | 0T & Jraen @ TE&dT & Fgad 4 : 3 of 3 F7 12 7o
#r frard 3k @iy 713, 3 3ga 5 3 & I AU B gEaw fr wEar fRaer 82
Options:

T. = 606




Question Number : 97 Question Id : 9983671419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: . 2.z B i . .
The three numbers are in the ratio = : 3 ' e The difference between greatest and smallest numbers is 24. Find the sum
of all the numbers.

Options:
1. & 240

2 % 224
3. % 200

4.« 184

Question Number : 97 Question Id : 9983671419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T S 2 2 % e A ¥ s ¥ o ad TE o wad o wew & A a7 e 24

3
g Dt gt Fr e BT gem?
Options:
1. = 240

2 % 224



3. = 200

4., » 184

Question Number : 98 Question Id : 9983671420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A number is increased by 40% and then decreased by 25%. What is the net percentage increase/decrease in the mumber?

Options:

1. + 5% increase
? % 5% decrease
3. % 7% increase

A = 7% decrease

Question Number : 98 Question Id : 9983671420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U BEAT # 40% H i g8 ¥ 3R R 25% T w0 g 1 wEw A 3 fhaw wioww 1 g g e

Options:

1. v 5% =

2 w 5% FAT

3. » TRER



4. = 7% FAT

Question Number : 99 Question Id : 9983671421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A’s salary is 40% more than B’s. How much per cent is B’s salary less than A’s?
Options:

1&283%
2829

4p
3 v 28? Yo

i e 29;%

Question Number : 99 Question Id : 9983671421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT aaT B & 399 & 40% 30 &1 B #7 397 A F a9 ¥ g v 7 &7

Options:
i

2 o
2 28?;‘6

b

3 2839@



3 & 29%%

Question Number : 100 Question Id : 9983671422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of all factors of 70 is:
Options:

1. = 16

&

2, 18

Question Number : 100 Question Id : 9983671422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

70 & T Ut 1 IEa fraer 87

Options:

1. = 16
2. & 18
3. x 21



Arithmetic Ability2

Group Number : 6
Group Id: 99836732
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 99836738
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836772
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983671423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 25 numbers is 70. The average of first 13 numbers is 65 and the average of last 13 numbers is 74. If 13t
number is excluded, what is the average of the remaining numbers? (approximate to one decimal place)

Options:



Question Number : 101 Question Id : 9983671423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25 TEAT3T &1 A@a 70 1 g 13 FEATHT & JdiEa 65 g AT ITE 13 gt #v sdwg 74 &) afy
13387 #&aT & Tee Bar =, ar 9w "@Emnst v dEa G g2En? (T SurEed T )

Options:

f. & 605
2. v 705
4 & BE
4 = 70

Question Number : 102 Question Id : 9983671424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Average age of A and B is 28 years, that of B and C is 30 years and the average age of C and A is 32 years. The age of
C (in years) is:
Options:

1. = 36

2'\,7 34

b&.
&
'.u}..l
o

Question Number : 102 Question 1d : 9983671424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A 3T B #T 3itHeT 31 28 a¥ g, B 3T C #r 3ftwa amg 30 9§ ¥ 3 C 3w A Fr i g 32 99
gl C & 3y (auf #) fraer &2

Options:
1. = 36
2. v 34
3. % 32
4. = 30

Question Number : 103 Question Id : 9983671425 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 15% after selling a book at 10% discount on the printed price. The ratio of the cost price
and printed price of the book is:

Options:

1. = 23:18

17721

>
%

A » 18:23

Question Number : 103 Question Id : 9983671425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ZHFER Aled Hed W, 10% F TT W JEas a9 & a1g 377 15% & a7 FAT g1 T

T Hed iR Fiea 7eg &1 e feaer 22

Options:



5w 21117
3 & T
4 « 18:23

Question Number : 104 Question Id : 9983671426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the CP of T 100 stock at 5% discount. with %‘?si: brokerage?

Options:

1. & T95

2 @ 952

i

3 % 1042

A % T 104

v

Question Number : 104 Question 1d : 9983671426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

é% EATell & FTY 5% TE T T 100 Tl & aFd Hod fehaelr g7

Options:

1. = T95




2. & T952

3. » 71042

4. = T104

Question Number : 105 Question 1d : 9983671427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two successive discounts of 5% and 7% are equal to:
Options:
1. = 11.75%

7 @ 11.65%

Question Number : 105 Question Id : 9983671427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5% 3R 7% % ar Hias ge Heataad J ¥ Fus g e 87

Options:

1. = 11.75%

2 ¢ 11.65%



3. % 11.5%

4. » 12%

Question Number : 106 Question Id : 9983671428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a shopkeeper gives 20% discount and then 10% discount on a marked price of € 500 for an article, how much would
be the selling price of the article?

Options:
1. & T 369

7 % T363

3« T 360

A = T350

Question Number : 106 Question Id : 9983671428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg ve gFeer T 500 & Hed W Afha FHAE W 20% g AR BT 10% Fr ge & &, af aHA

& T Heg Tonder grem?
Options:

1. = T 369

2 « T 363

3. ¢ T 360



4. % T 350

Question Number : 107 Question Id : 9983671429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After deducting a commission of 5%, a computer set costs < 49,595, Its marked price is:

Options:
1. = < 53375.26

2 x T52,074.26

Question Number : 107 Question Id : 9983671429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5% FHET Fe F =G, TF FHel He & FHIAT T 49,595 §1 3 FyeX & Alda Heu e 22
Options:

1. = ¥53,375.26

2 x ¥ 5207426

3 o ¥52205.26

4 = 5201826

Question Number : 108 Question Id : 9983671430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The simple interest on a sum of money at 10% per annum for 2 vears is T 5.400. Compounded annually, what would be
the compound interest on the same sum for the same period at the same rate of interest?

Options:
1. » 5700

2« T5.680

3 » T5.670

4 = T5.650

Question Number : 108 Question Id : 9983671430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 grer & fore 9fF 9§ 10% $Fr 7 & v Af¥ag g=vfyr | grumer sor=r T 5,400 8 a1t Iy
TS F §F H, A TS X W A 39 & B 390 7o+ 7 W agfe o= fraar geme?

Options:

1 % % 5,700
2 &« %5680
3 » ¥58670
4 % %5650

Question Number : 109 Question Id : 9983671431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In what time will T 48,000 amount to ¥ 52,920 at 10% per annum interest compounded half yearly?

Options:



1. « 1 year

? w 1year3 months

3 x lyeart months

4 = 2 years

Question Number : 109 Question Id : 9983671431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% 48,000 #Fr a=Afy 10% i a¥ =wgfe =1t @ W Fo oas ¥77 & T 52,920 g Fwam?

Options:

"I_t{f'im

2« 1% 3T

3. « 196 7@

Question Number : 110 Question Id : 9983671432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= 4 : : G e : . . ;
In 5 years the simple interest on certain sum of money is o of the principal. The annual rate of interest is:
Options:

1. & 5%



? ® 6%

3. ¢ 9%

A % 10%

Question Number : 110 Question Id : 9983671432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 ot & ve fAfRas owwRRr T 9o WWT s AEes @ - ¥ s i @it ax e 37

Options:

1. = 5%
2 x 6%
3. v 9%
4. = 10%

Question Number : 111 Question Id : 9983671433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 56 cm wide path is made around a circular garden having a diameter of 9 m. What is the area of the path in m? ?
Options:
1. «+ 16.8256

7 % 169526

3. % 17.0526



x 17.2326
4,

Question Number : 111 Question Id : 9983671433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF JeaR T F TRT 3R 9 m ST F TF 56 cm I [T §T £l TS F ATHA m? F haa
gram?

Options:

1. «» 16.8256

2 % 16.9526
3. % 17.0526
4. » 17.2326

Question Number : 112 Question Id : 9983671434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the total cost of polishing curved surface of a wooden cylinder at the rate of ¥ 15 per m?, if it has 50 cm
diameter and 7 m height?

Options:



Question Number : 112 Question Id : 9983671434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF FHE % oSt T GAEER HAE I AHG HT aed T 15 9 m? @1 3R BEest # & 50
cm AN FA5 7 m §, A T FAE F THF A T fohdelr TR T BRI

Options:
1. & 7250
D & T2I5
3. ¢ T165
A ® T35

Question Number : 113 Question Id : 9983671435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The base of a triangle is equal to the perimeter of a square whose diagonal is 7+/2 cm and its height is equal to the side
of a square whose area is 121 cm? . The area of the triangle is:

Options:

1. = 150 cm?

? « 154 cm?

3 % 158 cm?

4. % 160 cm?

Question Number : 113 Question Id : 9983671435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve RS # AR, 7V2 fET A ve a9 & aRfYr & et 7 AR sEE 3918, 121 cm? &9 S
TH T BT ST & T g1 $H S & SEA o 22



Options:

1. = 150 cm?

7. « 154 cm?

3 = 158 cm?

4. = 160 cm?

Question Number : 114 Question Id : 9983671436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat can go 20 km downstream and 16 km upstream in 144 min. It can also go 20 km upstream and 16 km
downstream in 126 min. What is the speed of the boat in still water in km/h?

Options:

-~
B
[

-
n

Question Number : 114 Question Id : 9983671436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF AT For 144 el F owr #r 3T 20 km A o F FodE 16 km #F gl 77 W A B 7@
For 126 fAael & amr & Ralig 20 km AT amr & 37 16 km H g =t 77 F ot 21 =
H a9 #1 7fq =T 87

Options:



5 % 175
3. % 225
4. v 25

Question Number : 115 Question Id : 9983671437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, Q and R are in a cycle race of 2250 m. P cycles twice as fast as Q. R cycles 1/3™ as fast as Q. R completes the race in
45 min. Then where was Q from the finishing line when P finished the race?

Options:

1. v 1125m

? % 1150m

1175 m

-
%

4 = 1200m

Question Number : 115 Question Id : 9983671437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P,Q3RR 2550 mFros aefrar el Hromifar s awrang I P asfa Hrad Q &
AT R T FM I RF P R o QF aEFa H a F 1/3 (a9 3fE a5 81 R 45
Tre A s W T g a1 F9 P 7 gz 9 7 ar Q TAfRer asa ¥ A gfr W

Options:



1. v 1125 m

2 % 1150 m
3. % 1175 m
4. % 1200 m

Question Number : 116 Question Id : 9983671438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bov increases his speed toz times of his original speed. By this he reaches his school 20 min before the usual time.
How much time (in min) does he takes usually?

Options:

1. v 45

®
n
o

2

t.h.
®
LN
Lhn

Question Number : 116 Question Id : 9983671438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wmmﬁﬂﬁ?ﬁﬂ-ﬁ‘z gmwaw%cﬁmmﬁqagaqﬂ wmﬁ'ﬂmw& TET ¥ 20 AaT
T T A g1 HH IR W T8 Braan gy (e #) o 22

Options:




2. = 50
3. = b2
4. = 55

Question Number : 117 Question Id : 9983671439 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A can finish a work in 27 days and B can do the same work in one third the time taken by A. then, working together.
what part of the same work they can finish in six days?

Options:

1. =

oo

4 v

Question Number : 117 Question Id : 9983671439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A R8T # & 27 RBAET § W R THAT € HR B 38 FF F A g@R T T THT F 0 g A
H 9 FT ThaT g1 IR 2l Teh WY FH L ¢, af el [HAelR BF [Gall H 30 FIH HT Fol fohaall
fewar U X wha B2

Options:



| e

Question Number : 118 Question Id : 9983671440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The given bar graph shows the sales of books (in thousand number) from six branches of a publishing company during

two consecutive years 2000 and 2001.

Sales of Books (in thousand numbers) from Six Branches - B1, B2, B3, B4, BS
and B6 of a publishing Company in 2000 and 2001.

120 -
110 = 105
100 -
o0 -
8O -
70 4
60 1
50 4
410 -+
30 -
20 4
10 -
0]

110

93

80

75
70

Sales [in thousand numbers)

Bl B2 B3 B4 BS B6

Branches = 2000 =2001

The ratio of total sales of B2, B4 and BS5 branches taken together for the year 2000 to 2001 (in thousand numbers) is:

Options:
1. = 45:51

% & 47151



3. % 51:47

4 wn 51:45

Question Number : 118 Question Id : 9983671440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A BT T 9% a6 # & TR 99 2000 3 2001 F ST U W 9T #r oF oyt ¥
e T AP (FSR T9Ar H) g gl

Sales of Books (in thousand numbers) from Six Branches - B1, B2, B3, B4, BS
and B6 of a publishing Company in 2000 and 2001.

120 -

110

110 4 105
E 100 + Q5 95 as
£ 9o 85
E 80 B0
£ B804 75 75 -
T 70 65
E
a 60 4
2 50+
£ 401
g 304
R 20 1

10 4

o d— - N e

Bl 82 B3 B4 BS 86

Branches = 2000 » 2001

B 2, B 4 3R B 5 am@nsit & aw 2000 ¥ 2001 & v & $o0 B & 3g9d (@9 w94 H) & d™
forgr Tmar &

Options:
1. = 45 : 51
2 ¢ 47 : 51

3. % 51:47



Question Number : 119 Question Id : 9983671441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Total Expenditure ¥ 840 (in billions). The data in pie chart is in percentage.

In the above pie graph, the amount of expenditure for education and health (in billions) is:
Options:
1. » 85

Question Number : 119 Question Id : 9983671441 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



uE W F & I e wiord # § HR e @ T840 (3wEt H) B
R fow 71w ug e A, R 3R ey & v g dr afr (Rt #) e 22

Options:

1. = 85
2. v 84
3. = 82
4 = 80

Question Number : 120 Question Id : 9983671442 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0.25



The following table shows the number of seats reserved in different classes in a train on five different days. The

capacity of each class is given in the bracket. How many seats remained vacant on Monday, Tuesday and Friday in all

the AC classes?

Day 2 Class | 1" Class | ACIIT | ACII | AC I

Non-AC | Mon-Ac | Tier Tier | Class

900) | (s00) | (500) | (250) | (150)

Monday 750 410 3590 240 145

Tuesday 820 400 450 230 120

Wednesday 730 360 480 220 130

Thursday 640 480 490 190 122

Friday 700 490 495 210 140

Options:

1. » 220
2 % 240
3 & 250
4 « 280

Question Number : 120 Question Id : 9983671442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et arfeesr T sferr-31eT RF & 0 o & fdes Farg #§ anfag @t $Fr g=ar & grar
2| Scle FATH HT AT Sohe H &1 IS g1 Tl TH FE A WIHGR, FeER AR YFAR # oaer #@E
QT 87

= sRaar | 9w ol ==l ot SuHE
FETH FoTH feoT femT feot
ATA-TEHT | ATA-THT | (500) (250) (150)
{900) (500)
HrAaT 750 410 390 240 145
 Fererax | 820 400 450 1230 1120
UL 730 360 480 220 130
AT 640 480 490 190 122
spEet | 700 490 495 210 | 140




Options:

1. = 220
D % 240
3 & 250
4., » 280

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section Id:

General English1

7
99836733
0

0
No
No
0
20
No
Yes
0

0

General Englishil

99836739
1

Online
Mandatory
20

20

20

1
99836773

Question Shuffling Allowed : Yes



Question Number : 121 Question 1d : 9983671443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

I have lived here ten years.
Options:

1. & since

?  Tor

3 % till

4 = from

Question Number : 121 Question 1d : 9983671443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

I have lived here ten years.
Options:

1. = since

2.« for
3. = till
4. = from

Question Number : 122 Question 1d : 9983671444 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

While living prisons, Nehru became interested animals around him.

Options:

1' % in, to

2' % Info, in

3. % 4at at

] « Inin

Question Number : 122 Question 1d : 9983671444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

While living prisons. Nehru became interested animals around him.
Options:

"I_ % In, to

o I into, in

3_ % at at

4. « 010

Question Number : 123 Question Id : 9983671445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

My father is a translator. Last week he the PM’s speech when he came here to address the people.
Options:

1. = translates

?  ftranslated

3 u Was translating

4 % has translated

Question Number : 123 Question Id : 9983671445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

My father is a translator. Last week he the PM’s speech when he came here to address the people.

Options:

1. % translates

? « translated

3. % Was translating

4. % has translated

Question Number : 124 Question Id : 9983671446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

I usually to Meerut by bus, but this time I by train.

Options:
1. « g0.am going

? % Wwent, was going

3 u have gone, have been going

4. » Wwill go, will go

Question Number : 124 Question Id : 9983671446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

I usually to Meerut by bus. but this time I by train.
Options:

1. » go,amgoing

2  w Went, was going

3.« have gone. have been going

4. = wilgo, willgo

Question Number : 125 Question 1d : 9983671447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

he came late, the teacher did not let him in.

Options:
1. = Though

2.« As

3. ® Sothat

4. % While

Question Number : 125 Question Id : 9983671447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

he came late, the teacher did not let him in.
Options:
1. % Though

3. % Sothat

4. % While

Question Number : 126 Question Id : 9983671448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

I asked her she was interested in visiting the Butterfly Farm.

Options:
1. % unless

? % asif

3. « whether

4 % that

Question Number : 126 Question Id : 9983671448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

I asked her she was interested in visiting the Butterfly Farm.

Options:

1. = nunless

2. » asif

3. « whether

4. % that

Question Number : 127 Question Id : 9983671449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

She lost the pen her brother had given her.
Options:

1. + which

? % who

3. & whom

4 = what

Question Number : 127 Question Id : 9983671449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

She lost the pen her brother had given her.
Options:

1. & which

2. = who

3. % whom

4. » what

Question Number : 128 Question Id : 9983671450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

The cows grazing in the pasture got frightened when saw a wolf coming.

Options:
1. = it

2 o they

3. % them

4 w we

Question Number : 128 Question Id : 9983671450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

The cows grazing in the pasture got frightened when saw a wolf coming.
Options:

1. = it

2 o they

3. % them

4. = we

Question Number : 129 Question Id : 9983671451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

In most meetings people vote by raising right hands.

Options:

1. & Your

? % our

3. « their

A = theirs

Question Number : 129 Question Id : 9983671451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

In most meetings people vote by raising right hands.
Options:

1. = Yyour

2. % our

3w their

4. w theirs

Question Number : 130 Question Id : 9983671452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

He got a table for me from Moradabad.
Options:

1. « small round brass

? % round small brass

3. ® small brass round

A % brass small round

Question Number : 130 Question 1d : 9983671452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

He got a table for me from Moradabad.

Options:

1. « small round brass

7. % round small brass

3. % small brass round

4. % brass small round

Question Number : 131 Question Id : 9983671453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

TRUCE
Options:

1. « ceasefire

? % persistence

3 % continuation

4 = truth

Question Number : 131 Question Id : 9983671453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

TRUCE
Options:

1. « ceasefire

2 % persistence

3. % continuation

4 = truth

Question Number : 132 Question 1d : 9983671454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

CONCEITED
Options:
1. % timid

? % diffident

3  Aarrogant

4. % irritated

Question Number : 132 Question Id : 9983671454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

CONCEITED
Options:

1. % timid

7w diffident

3 o Alloga nt

4. = irritated

Question Number : 133 Question Id : 9983671455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the given word.

ELATED
Options:

1. = ecstatic

?  depressed

3w surprised

4 % amused

Question Number : 133 Question Id : 9983671455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

ELATED
Options:

1. = ecstatic

2  depressed

3. % surprised

4 = amused

Question Number : 134 Question 1d : 9983671456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘in-’.



Options:

1. # inadmissible

? % incautious

3. « incentive

4. » Inadequate

Question Number : 134 Question Id : 9983671456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘in-".

Options:

1. % inadmissible

7. w incautious

3. « incentive

4. » inadequate

Question Number : 135 Question Id : 9983671457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘mis-".
Options:

1. & misfire



? % misinferpret

3 % ismanage

4 « miserable

Question Number : 135 Question Id : 9983671457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option which is NOT an antonym of another word by way of adding the prefix ‘mis-".

Options:

1. % misfire

2 % isinterpret

3. % Mismanage

4. « miserable

Question Number : 136 Question Id : 9983671458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:
1. » preceade

? . complement

3« Iepresant



4. % mechinary

Question Number : 136 Question Id : 9983671458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:

1. & Ppreceade

2 » complement

3w represant

4. % mechinary

Question Number : 137 Question Id : 9983671459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.
Options:

1. # microcosm

? % miniature

3. % ministerial

4« millitant

Question Number : 137 Question Id : 9983671459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Options:

1. % microcosm

7. % miniature

3 % ministerial

4. « millitant

Question Number : 138 Question Id : 9983671460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

Victor was abroad when the war in his country.
Options:

1. # broke down

? « broke out

3 u brokeup

4 % broke off

Question Number : 138 Question Id : 9983671460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

Victor was abroad when the war in his country.



Options:

1. % broke down

7.« broke out

3. % brokeup

4. = broke off

Question Number : 139 Question Id : 9983671461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

How many planes from the Delhi Airport every minute?

Options:
1. = getoff

? x setaway

3. « take off

/] » putout

Question Number : 139 Question Id : 9983671461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

How many planes from the Delhi Airport every minute?

Options:



1. = getoff

2 w setaway

3. take off

4. = putout

Question Number : 140 Question Id : 9983671462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the sentence.

The beans that Rahul brought were all rotten.
Options:
1. » The beans that had been brought by Rahul is all rotten.

2 % Rahul had brought the beans were all rotten.

3 The beans that were brought by Rahul were all rotten.

A, » The beans that are brought by Rahul are all rotten.

Question Number : 140 Question Id : 9983671462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the sentence.

The beans that Rahul brought were all rotten.

Options:



1. % The beans that had been brought by Rahul is all rotten.

2 % Rahul had brought the beans were all rotten.

3. The beans that were brought by Rahul were all rotten.

4. » The beans that are brought by Rahul are all rotten.
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Group Marks:
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Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 9983671463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the given sentence.

Kavyva has already distributed the sweets among the children.

Options:
1. » The sweets were already distributed by Kavya among the children.

2 % Kavya had already been distributed by the sweets among the children.

3 % The children have already been distributed sweets by Kavya among them.

4. » The sweets have already been distributed by Kavya among the children.

Question Number : 141 Question Id : 9983671463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the given sentence.

Kavya has already distributed the sweets among the children.
Options:

1. « Thesweets were already distributed by Kavya among the children.

2 % Kavya had already been distributed by the sweets among the children,

3 % Thechildren have already been distributed sweets by Kavya among them.

/.  Thesweets have already been distributed by Kavya among the children.

Question Number : 142 Question Id : 9983671464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct passive form of the given sentence.

One has rarely seen such queues for a film.

Options:
1. » Such queues are rarely been seen for a film.

2 . Such queues have rarely been seen for a film.

3 u Nobody has seen rarely queues for a film.

4. » Such queues rarely cannot be seen for a film.

Question Number : 142 Question Id : 9983671464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the given sentence.

One has rarely seen such queues for a film.
Options:

1. & Such queues are rarely been seen for a film.

2  Such queues have rarely been seen for a film.

3.« Nobody has seen rarely queues for a film.

Z. % Suchqueues rarely cannot be seen for a film.

Question Number : 143 Question Id : 9983671465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct active form of the given sentence.

The fire at the Notre-Dame was brought under control by the firefighters.
Options:
1. « The firefighters brought the fire at the Notre-Dame under control.

2w The firefighters were brought the fire at the Notre-Dame under control.

3 The firefighters controlled the fire at the Notre-Dame.

4. » The firefighters tried to bring the fire at the Notre-Dame under control.

Question Number : 143 Question Id : 9983671465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct active form of the given sentence.

The fire at the Notre-Dame was brought under control by the firefighters.
Options:

1. « The firefighters brought the fire at the Notre-Dame under control.

2 % The firefighters were brought the fire at the Notre-Dame under control.

3« The firefighters controlled the fire at the Notre-Dame.

Z. « The firefighters tried to bring the fire at the Notre-Dame under control.

Question Number : 144 Question Id : 9983671466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct indirect form of the given sentence.

*“What will I do with this cracked cup?” said Madhu.

Options:
1. » Madhu asked what will I do with this cracked cup.

2 % Madhu thought what she could do with that cracked cup.

3 » Madhu said what she should do with this cracked cup.

4. » Madhu wondered what she would do with that cracked cup.

Question Number : 144 Question 1d : 9983671466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct indirect form of the given sentence.

“What will I do with this cracked cup?” said Madhu.
Options:
1. % Madhu asked what will I do with this cracked cup.

2 % Madhu thought what she could do with that cracked cup.

3. % Madhu said what she should do with this cracked cup.

4. » Madhu wondered what she would do with that cracked cup.

Question Number : 145 Question Id : 9983671467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct indirect form of the given sentence.

Esha said to Anshul. “Remember to book the tickets for the movie.”
Options:
1. % Eshaasked Anshul remember booking the tickets for the movie.

? « Eshareminded Anshul to book the tickets for the movie.

3. # Eshawarned Anshul to books the tickets for the movie.

4. » Eshaadvised Anshul you book the tickets for the movie.

Question Number : 145 Question Id : 9983671467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct indirect form of the given sentence.

Esha said to Anshul, “Remember to book the tickets for the movie.”
Options:

1. & Eshaasked Anshul remember booking the tickets for the movie.

7« Eshareminded Anshul to book the tickets for the movie.

3 % Eshawarned Anshul to books the tickets for the movie.

/. % Eshaadvised Anshul you book the tickets for the movie.

Question Number : 146 Question Id : 9983671468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct direct form of the given sentence.

I told Taru that the car had to be sent for servicing.
Options:
1. » Isaid to Taru, “The car had to be sent for servicing.”

2 Dsaid to Taru, “The car has to be sent for servicing.”

3 Tarusaid to me, “The car has to be sent for servicing.”

4. » Iasked Taru, “Is the car to be sent for servicing?”

Question Number : 146 Question Id : 9983671468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct direct form of the given sentence.

I told Taru that the car had to be sent for servicing.
Options:

1. % Isaidto Taru, “The car had to be sent for servicing.”

2  [Isaidto Taru, “The car has to be sent for servicing.”

3 Tarusaid to me, “The car has to be sent for servicing.”

4. « Iasked Taru. “Is the car to be sent for servicing?”

Question Number : 147 Question Id : 9983671469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the part of the sentence that has an error. If there is no error, select No error as the answer.

If he passes this examination he will get a government job.

Options:
1. % Ifhe passes

? % this examination

3 hewill geta government job

4 « No error

Question Number : 147 Question Id : 9983671469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the part of the sentence that has an error. If there is no error, select No error as the answer.

If he passes this examination he will get a government job.
Options:

1. = Ifhe passes

7 % this examination

3. % hewill geta government job

4.« Noerror

Question Number : 148 Question Id : 9983671470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the part of the sentence that has an error. If there is no error, select No error as the answer.

We must finish this work within eight o’clock.
Options:

1. ® We must finish

? % this work

3 Wwithin eight o’clock.

4] = No error

Question Number : 148 Question Id : 9983671470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the part of the sentence that has an error. If there is no error, select No error as the answer.

We must finish this work within eight o’clock.

Options:

1. % We must finish

? = this work

3. Wwithin eight o’clock.

4. % No error

Question Number : 149 Question Id : 9983671471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the part of the sentence that has an error. If there is no errot, select No error as the answer.

The lotus is one of the most beautiful flowers that grows in this garden.
Options:

1. % one of the most beautiful flowers

2 . that grows

3w inthis garden.

4 = Noeror

Question Number : 149 Question Id : 9983671471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the part of the sentence that has an error. If there is no error, select No error as the answer.

The lotus is one of the most beautiful flowers that grows in this garden.
Options:

1. % one of the most beautiful flowers

2 o thatgrows

3.« nthis garden.

4. = Noerror

Question Number : 150 Question Id : 9983671472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange parts of the sentence in meaningful order.

A. The most fascinating element
B. on board

C. you meet

D. the variety of people

E. of train travel is
Options:

1. v+ AEDCB

7 % ACEBD

3. % ACDEB

A. % ABECD

Question Number : 150 Question Id : 9983671472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange parts of the sentence in meaningful order.

A. The most fascinating element
B. on board

C. you meet

D. the variety of people

E. of train travel is
Options:

1. v AEDCB

2 % ACEBD



3. % ACDEB

4. & ABECD

Sub-Section Number: 2
Sub-Section 1d: 99836775
Question Shuffling Allowed : Yes

Question Id : 9983671473 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

(Question Label : Comprehension



Read the following passage and answer the questions given
after it.

Hunting has been a major cause of the decline in elephant
populations. Elephants became prized trophies for big-game
hunters after Europeans arrived in Africa. More recently. and
more devastatingly. hunters have slaughtered elephants for
their ivory tusks. The ivory trade became a serious threat to
elephants in the 1970s.

A sudden oil shortage caused the world economy to
collapse. and ivory became more valuable than gold. In fact.
ivory has been called “white gold” because it is beautiful.
easily carved. durable, and pleasing to the touch. Most of the
world’s ivory is carved in Japan. Hong Kong, and other
Asian countries, where skilled carvers depend on a supply of
ivory for their livelihoods.

Hunting elephants is no longer legal in many African
countries, but poaching was widespread until very recently.
For many the high price of ivory, about $100 a pound in the
1980s, was too tempting to resist. Local people often had
few other ways to make a living, and subsistence farmers or
herders could make more by selling the tusks of one elephant
than they could make in a dozen years of farming or herding.

As the price of ivory soared, poachers became more
organized. using automatic weapons, motorized vehicles, and
airplanes to chase and kill thousands of elephants. To
governments and revolutionaries mired in civil wars and
strapped for cash. poaching ivory became a way to pay for
more firearms and supplies.

Poaching has caused the collapse of elephants® social
structure as well as decimating their numbers. Poachers
target the biggest elephants because their tusks are larger.
They often kill all the adults in the group. leaving young
elephants without any adults to teach them migration routes,
dry-season water sources. and other learned behavior. Many
of Africa’s remaining elephant groups are leaderless sub-
adults and juveniles.

Sub questions



Question Number : 151 Question Id : 9983671474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main theme of the passage is:
Options:
1. » poaching of elephants in Africa

? w importance of ivory

3 . the cause of decline in elephant population

/. % decline of the social structure of elephants

Question Number : 152 Question 1d : 9983671475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ivory became more valuable than gold because:
Options:
1. = itis very beautiful to look at.

? . itietched very good price.

3 it'was an easy source of income.

4. % theworld economy had collapsed.

Question Number : 153 Question Id : 9983671476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The killing has caused the social structure of elephants
collapse. Why?

Options:

1. » The number of elephants is reduced in a group.



? . The adult elephants are not there to guide the young ones.

3w Sub-adults and juveniles do not lead the group.

/. » The biggest elephants are killed as their tusks are larger.

Question Number : 154 Question Id : 9983671477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following people interested in poaching are
not from African continent?
Options:

1. # subsistence farmers

? % revolutionaries

3w governments held up in war

A skilled carvers

Question Number : 155 Question Id : 9983671478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the correct sentence?
Options:

Poaching has caused the collapse of elephants’ social
1. « structure

Raiding has caused the collapse of elephants’ social
7 # structure



Importing has caused the collapse of elephants’ social
3. # structure

Mending has caused the collapse of elephants’ social
4 = structure

Question Id : 9983671473 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions given
after it.

Hunting has been a major cause of the decline in elephant
populations. Elephants became prized trophies for big-game
hunters after Europeans arrived in Africa. More recently. and
more devastatingly. hunters have slaughtered elephants for
their ivory tusks. The ivory trade became a serious threat to
elephants in the 1970s.

A sudden oil shortage caused the world economy to
collapse. and ivory became more valuable than gold. In fact.
ivory has been called “white gold” because it is beautiful.
easily carved. durable, and pleasing to the touch. Most of the
world’s ivory is carved in Japan. Hong Kong, and other
Asian countries, where skilled carvers depend on a supply of
ivory for their livelihoods.

Hunting elephants is no longer legal in many African
countries, but poaching was widespread until very recently.
For many the high price of ivory, about $100 a pound in the
1980s, was too tempting to resist. Local people often had
few other ways to make a living, and subsistence farmers or
herders could make more by selling the tusks of one elephant
than they could make in a dozen years of farming or herding.

As the price of ivory soared, poachers became more
organized. using automatic weapons, motorized vehicles, and
airplanes to chase and kill thousands of elephants. To
governments and revolutionaries mired in civil wars and
strapped for cash. poaching ivory became a way to pay for
more firearms and supplies.

Poaching has caused the collapse of elephants® social
structure as well as decimating their numbers. Poachers
target the biggest elephants because their tusks are larger.
They often kill all the adults in the group. leaving young
elephants without any adults to teach them migration routes,
dry-season water sources. and other learned behavior. Many
of Africa’s remaining elephant groups are leaderless sub-
adults and juveniles.

Sub questions



Question Number : 151 Question Id : 9983671474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main theme of the passage is:
Options:

1. =« poaching of elephants in Africa

2  importance of ivory

3.  the cause of decline in elephant population

/.« decline of the social structure of elephants

Question Number : 152 Question Id : 9983671475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ivory became more valuable than gold because:
Options:

1. =« itisvery beautiful to look at.

2  itfetched very good price.

3. & Itwasan easy source of income.

/4.« theworld economy had collapsed.

Question Number : 153 Question 1d : 9983671476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The killing has caused the social structure of elephants
collapse. Why?



Options:
1. % The number of elephants is reduced in a group.

2 » The adult elephants are not there to guide the young ones.

3. % Sub-adults and juveniles do not lead the group.

/.« Thebiggest elephants are killed as their tusks are larger.

Question Number : 154 Question Id : 9983671477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following people interested in poaching are
not from African continent?
Options:

1. % subsistence farmers

7w revolutionaries

3. governments held up in war

4. « skilled carvers

Question Number : 155 Question Id : 9983671478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the correct sentence?

Options:



Poaching has caused the collapse of elephants’ social
1. « structure

Raiding has caused the collapse of elephants’ social
7w structure

Importing has caused the collapse of elephants’ social
4 = structure

Mending has caused the collapse of elephants’ social
4. = structure

Sub-Section Number: 3
Sub-Section I d: 99836776
Question Shuffling Allowed : Yes

Question Id : 9983671479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions given
after it.

Climate change is a long-term shift in global or regional
climate patterns. Often climate change refers specifically to
the rise in global temperatures from the mid 20th century to
the present.

Earth's climate has changed many times. For example,
fossils from the Cretaceous period (144 to 65 million years
ago) show that Earth was much warmer than it is today.
Fossilized plants and animals that normally live in warm
environments have been found at much higher latitudes than
they could survive at today. For instance. breadfiuit trees.
now found on tropical islands. grew as far north as
Greenland.

Earth has also experienced several major ice ages — at least
four in the past 500,000 years. During these periods. Earth's
temperature decreased. causing an expansion of ice sheets
and glaciers. The most recent Ice Age began about 2 million
years ago and peaked about 20.000 years ago. The ice caps
began retreating 18.000 years ago. They have not
disappeared completely, however. Their presence in
Antarctica and Greenland suggests the Earth is still in a sort
of ice age. Many scientists believe we are in an interglacial
period, when warmer temperatures have caused the ice caps
to recede. Many centuries from now. the glaciers may
advance again.

Climatologists look for evidence of past climate change in
many different places. Like clumsy criminals. glaciers leave
many clues behind them. They scratch and scour rocks as
they move. They deposit sediment known as glacial till. This
sediment sometimes forms mounds or ridges called
moraines. Glaciers also form elongated oval hills known as
drumlins. All of these geographic features on land that
currently has no glaciers suggest that glaciers were once
there.

Scientists also have chemical evidence of ice ages from
sediments and sedimentary rocks. Some rocks only form
from glacial material. Their presence under the ocean or on
land also tells scientists that glaciers were once present in
these areas.



Sub questions

Question Number : 156 Question Id : 9983671480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The finding of fossils of breadfruit trees in Greenland
indicates that:

Options:

1. w» earth has experienced several ice ages

2 w Dbreadfruit trees can survive in cold places like Greenland.

3 . 65 million years ago earth was much warmer than today.

the global temperature has been rising from the mid 20th
4 % century.

Question Number : 157 Question 1d : 9983671481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“They scratch and scour rocks”. In this line ‘they” refers to:
Options:
1. % climatologists

2 o glaciers

3. # criminals

4 % cloes

Question Number : 158 Question Id : 9983671482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The oval hills formed by glaciers are known as:

Options:



1. & sediments

? #% moraines

3 = glacial tills

A drumlins

Question Number : 159 Question Id : 9983671483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following shows that glaciers were present
where there is ocean now?

Options:

1. = the presence of ice caps in Antarctica and Greenland

the presence of warm climate plant fossils in higher
7 w latitudes

the presence of the rocks formed of glacial material under
3.« theocean

the presence of moraines in areas where there are no
A4 « glaciers

Question Number : 160 Question Id : 9983671484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The most recent Ice Age began about:
Options:
e
1. « 2 million years ago



2 w 1million years ago

3 % 3million years ago

4. % 4 million years ago

Question Id : 9983671479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions given
after it.

Climate change is a long-term shift in global or regional
climate patterns. Often climate change refers specifically to
the rise in global temperatures from the mid 20th century to
the present.

Earth's climate has changed many times. For example,
fossils from the Cretaceous period (144 to 65 million years
ago) show that Earth was much warmer than it is today.
Fossilized plants and animals that normally live in warm
environments have been found at much higher latitudes than
they could survive at today. For instance. breadfiuit trees.
now found on tropical islands. grew as far north as
Greenland.

Earth has also experienced several major ice ages — at least
four in the past 500,000 years. During these periods. Earth's
temperature decreased. causing an expansion of ice sheets
and glaciers. The most recent Ice Age began about 2 million
years ago and peaked about 20.000 years ago. The ice caps
began retreating 18.000 years ago. They have not
disappeared completely, however. Their presence in
Antarctica and Greenland suggests the Earth is still in a sort
of ice age. Many scientists believe we are in an interglacial
period, when warmer temperatures have caused the ice caps
to recede. Many centuries from now. the glaciers may
advance again.

Climatologists look for evidence of past climate change in
many different places. Like clumsy criminals. glaciers leave
many clues behind them. They scratch and scour rocks as
they move. They deposit sediment known as glacial till. This
sediment sometimes forms mounds or ridges called
moraines. Glaciers also form elongated oval hills known as
drumlins. All of these geographic features on land that
currently has no glaciers suggest that glaciers were once
there.

Scientists also have chemical evidence of ice ages from
sediments and sedimentary rocks. Some rocks only form
from glacial material. Their presence under the ocean or on
land also tells scientists that glaciers were once present in
these areas.



Sub questions

Question Number : 156 Question Id : 9983671480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The finding of fossils of breadfruit trees in Greenland
indicates that:
Options:

1. « earth has experienced several ice ages

2  Dbreadfruit trees can survive in cold places like Greenland.

3. 65 million years ago earth was much warmer than today.

the global temperature has been rising from the mid 20th

4. = century

Question Number : 157 Question Id : 9983671481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“They scratch and scour rocks”. In this line ‘they” refers to:
Options:

1. » climatologists

2 o Bglaciers

3. % criminals

4. % clues

Question Number : 158 Question Id : 9983671482 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The oval hills formed by glaciers are known as:

Options:

1. % sediments

7 % moraines

3.« glacial tills

4. « drumlins

Question Number : 159 Question Id : 9983671483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following shows that glaciers were present
where there is ocean now?
Options:

1. » the presence ofice caps in Antarctica and Greenland

the presence of warm climate plant fossils in higher
2. u latitudes

the presence of the rocks formed of glacial material under
3w theocean

the presence of moraines in areas where there are no
4. = glaciers

Question Number : 160 Question Id : 9983671484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The most recent Ice Age began about:

Options:

1. «» 2million years ago

2 % 1 million years ago

3« 3 million years ago

4. % 4million years ago
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Sub-Section Id: 99836777
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983671485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFT # FiF 4O e 957 27

Options:

Question Number : 161 Question Id : 9983671485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= 7 FiF @1 o a7 27

Options:

1. = ¥
2, » TH
3. v &
4, » W

Question Number : 162 Question Id : 9983671486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT & O FiF TT A= 95T e 87



Options:

2, »

=
#
i

Question Number : 162 Question 1d : 9983671486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &7 o 7 T aeg I8 Fer 872

Options:
1. = &1
2. v T

Question Number : 163 Question Id : 9983671487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & #i9 31 o 9857 &7

Options:

1. v &=



Question Number : 163 Question Id : 9983671487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ FiF I s am7 &7

Options:

1. » @==
2 % o=
3. o W

Question Number : 164 Question Id : 9983671488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O Fi7 T o= I=TH el 87

Options:

1. &« &+



Question Number : 164 Question 1d : 9983671488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & O &i9 I o= I8 H 8l 87

Options:
1. = FE®
2 = &
3. » Y
4., v B8R

Question Number : 165 Question Id : 9983671489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O =iF I o 3 &7

Options:

1. » HEA



Question Number : 165 Question Id : 9983671489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 7 & #iF 3 e T B2

1. » =
2, % FTW
3. v fRfmr
4, » T

Question Number : 166 Question Id : 9983671490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O FiF ar s Bl 22
Options:

1. = 9

2. v HaEr

4

3' &

4“% h,E

Question Number : 166 Question Id : 9983671490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 7 o =7 T o= Tt &2

Options:
1. = ®I8T
2. @ v
3, &« WX
4, = el

Question Number : 167 Question Id : 9983671491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 @ 5w weg & T9=T g€ 87

Options:

1. % T
2. » TG
3, » ST

4, » B

Question Number : 167 Question 1d : 9983671491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & fFE oreg F7 ao = B2

Options:



113

I~
%
A

Question Number : 168 Question Id : 9983671492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FAT 9T TIT B WY F T UF ueE EET:

Options:

1.« 9T

Question Number : 168 Question Id : 9983671492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fr 9T 9T B Y & BT U g B

Options:

1. v W@



Question Number : 169 Question 1d : 9983671493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T T HY el g

Options:
1 1 gg

2, % A
3 % AT

4.+

Question Number : 169 Question Id : 9983671493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T T HY el BT
Options:

1. &« FASA

2 & A



Question Number : 170 Question Id : 9983671494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Herl-He' U, TIA F TE 7Y ¢

Options:
1. = il - AT

2 v HedlSA - CRkl

3w AT - AR

4. x T

Question Number : 170 Question Id : 9983671494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Her-He' U TIA F Tel YT 2

Options:

1. = QEAT - AT

2 v HdlS - CRAL

3. 0= AT - AT



Question Number : 171 Question Id : 9983671495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ofrgerar 55 9R T J=7 87
Options:

1. % TET¥ETEs

7w cHTFdaTR

Question Number : 171 Question Id : 9983671495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘offgerar g 9R T =T 87
Options:

1. « TErdErEs

™
2. w cUlddT=eh

Question Number : 172 Question Id : 9983671496 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘Ug GIATH T IAUEES S0 2
Options:

1. » S

Question Number : 172 Question Id : 9983671496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Ug' GIATH &7 IATE=S 99907 2

options.
1. v &
2. % 3
3. « fehaem
4, = Foeen

Question Number : 173 Question 1d : 9983671497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T T SR & fa9yor 27

Options:



Question Number : 173 Question 1d : 9983671497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T SR & Ta9yoT 27

Options:

1_&?1’6‘5!%

2wqﬁﬂmm

Question Number : 174 Question Id : 9983671498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pt & @ Fia @1 swae aig 872
Options:

1. » WEar



Question Number : 174 Question Id : 9983671498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pt & @ Fia @1 swae aig 872

Options:
1. = o
2. w S
3. » R
4, % HGT

Question Number : 175 Question 1d : 9983671499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTFT &S 48 AT 21 T 7 B e &

Options:
1. = <

2. v IS



4, % 8l

Question Number : 175 Question Id : 9983671499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTFT &S 48 AT 21 T 7 B e &

Options:

1. = SN
2. v WS
3w Gl

Question Number : 176 Question Id : 9983671500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
i » S9EEEH

o



Question Number : 176 Question Id : 9983671500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

T, gt TASEER

2_%14:#@36%%

e

3 x REEETfe 9w

Question Number : 177 Question Id : 9983671501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FOi 5T TR # 3eTT &7

Options:
1 « 99 TTH

3w e
3« ERITE S

A % SIATOT SR

Question Number : 177 Question Id : 9983671501 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘FOIF T 9T & 3TT 87
Options:

1 . T IS

2 TH=IT s

o P |

Sa@mﬁm

Question Number : 178 Question Id : 9983671502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘o + ¥R T HIY 9 e

Options:

1. » ==w
2w fFamem
3. = Hmer

4. » Tomem

Question Number : 178 Question Id : 9983671502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘o1 + e # E@fY w9 gem:

Options:



2« Hamer
3. = farer
4. » &

Question Number : 179 Question Id : 9983671503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TFAOT F FiT T TAT &7

Options:

4&»3&\3&?

Question Number : 179 Question 1d : 9983671503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFHIMOT F FT "5 THE &2

Options:
1. = ooy



Question Number : 180 Question Id : 9983671504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Heorw' A W 39T & 9T el g7
Options:

1. » &

Question Number : 180 Question Id : 9983671504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘F3ITE H 5 399eT & gaeT g3 2
Options:

1. v 3



4. « HE
General Hindi?
Group Number : 10
Group Id: 99836736
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Hindi2
Section Id : 99836742
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 12
Number of Questionsto be attempted: 12
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 99836778
Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 9983671505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT 96 TATT ¢ 99 el ST g1’ 99T H ‘T 9 AT ¢ FH YRR F 39aT 27
Options:

1. « T 3IAFT



2 % TEAYOT IUEH

L
3. &« HIAH 39aH

4. » TFar @R suaey

Question Number : 181 Question Id : 9983671505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T TIgd TRATT ¢ 99 IAT a38dT g 99T H ‘F9 9ed TSdT & [0 YR &7 399eT 27
Options:

1. = T 39aH

2 % Ewur g

3. % TIATH 39S

4. » TFar fEdwor s9Ee

Question Number : 182 Question Id : 9983671506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & HJAN T H THR 6

Options:

1. « "foEeT

? v Hledey



Question Number : 182 Question Id : 9983671506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT % AR AT FH TN g

Options:

1. =« RREeT

7 v Tlodsd

Question Number : 183 Question 1d : 9983671507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT 9g T, I 9¢ HAT FE IER F AT 82

Options:

2 % H*_i?'#'d CIER2

3 v B aew



Question Number : 183 Question Id : 9983671507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT 9 IHI, I8 9¢ {1’ FH 9ER @ AT 2

Options:

1. » T G

Hgerd dTey

A
i-'}

3 v @ asw

Question Number : 184 Question Id : 9983671508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ugHA H TRE F FiT W@ AT gL g7

Options:

1« ¥R 9gd § 37=0 a3+

9 x T g U =T TE%

9, ¥ TEF G- Ted

4 « IS FSF Ted g O

Question Number : 184 Question Id : 9983671508 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
USshA HI T H i AT I %_;E%‘?

Options:

1 » OEN 9 g 30 a5

2« Ted g O 30 TS

3. v ¥HTO ws% O Ted 2l

4. » O TEH Yed g U

Question Number : 185 Question Id : 9983671509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= SEeT guTgETEr 27

Options:

1. = 9IS

Question Number : 185 Question Id : 9983671509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:



o
B
d

Question Number : 186 Question 1d : 9983671510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ FT IATIS=T ALl &
Options:

{ o T

3

4.

Question Number : 186 Question Id : 9983671510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HE FT TATS=T J8T 8
Options:



Question Number : 187 Question 1d : 9983671511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GE ST TATETHT g

Options:

Question Number : 187 Question Id : 9983671511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TATETET g
Options:
. &



Question Number : 188 Question Id : 9983671512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v T

2 % fEser

Question Number : 188 Question Id : 9983671512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
1. v TH
2. = EEECI



Question Number : 189 Question Id : 9983671513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘=T T &ErE gem
Options:

1. » fo=m

2. » HHER

3 v AR

4. % HAR

Question Number : 189 Question Id : 9983671513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘{7 A" gem

Options:
1. = fER
2. » WAER
3. v IFER
4, = WIR

Question Number : 190 Question Id : 9983671514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘ifereE & oo gem:

Options:

4'JW

Question Number : 190 Question Id : 9983671514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘i #1 T gem
Options:

1. = 9

Sub-Section Number: 2
Sub-Section 1d: 99836779
Question Shuffling Allowed : Yes

Question Id : 9983671515 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Question Label : Comprehension
A fedr o1 seErer @ ggeR I T WeAl & 3ok Anerv|

FAATT T H TR & S AN I Jar @A S §
gee T ¥ & RFe amer o 81 weeR-aw o Sew J
5q Yt ol e o § T sue e gw o o e &
ANE HT FoTaAT & Tl Y Hepcdd | TR HT F SATEF
AR &7 e 3797 & T 8 9¥ e & Rfge aefe
TS, #Atedr, BT, Yorke, Tras T, 77 S afe
W A ST ¢ IR T GIAT FAS & IS FeEd & o
AT FEvs 99 TR §| T9ERaT # 9T & Ty #+7
3O T T @S F 99T Fa H S THAr S F
TfE 3TH U7 TeAg @ O &TEAT # 3R o a7 e 7 3R
AdfFadT: gA 389 gofaa @ gl

Sub questions

Question Number : 191 Question Id : 9983671516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HieT FT HT T
Options:

Question Number : 192 Question Id : 9983671517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NI FT 3T E:

Options:



1. » HTTwH

Question Number : 193 Question Id : 9983671518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Teme’ FT HT AT &

Options:

1. » FTodias

Question Number : 194 Question 1d : 9983671519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FT 1T 9T g
Options:

1, « T

7w ATNH



Question Number : 195 Question Id : 9983671520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTIST T Y T Far 2T B

Options:

1. = %Fm

Question Id : 9983671515 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



A= o =TT IrE@rer T ugH @ T oAl F 3o’ ST

T T H TEFIRAT F IS T I Yy A E
gag I W & =g He g gl WAER-IS o SEa #
59 YR o e T g & sue Rer gw e o ew %
%ﬁﬁﬂﬁmﬁﬂﬁmmimam F FETEF
AR T HHe7 3797 & 74 g1 99 H & RfEg i
T, A, BT, Yok, TFaw JAeT, 72 BT Al
W A STl ¢ 3R T I §AS & 9fa dfea & o
AT FEYT g9 AT §| ISIRar H ST & gy &y
O T ¥ §AS 99T F Y S &THAT g E
Ifg 3EH U7 Hea1s @ o &TAaT @ 3R o a7 Ferar 7 3R
HATT: FAS 389 19T & ¢

Sub questions

Question Number : 191 Question Id : 9983671516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HWeT T JY &
Options:

"| % H

2 x U

3 o I

4 = e

Question Number : 192 Question Id : 9983671517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HfFaTT #Fr 3mT E

Options:



3, u T
A« FESIE

Question Number : 193 Question Id : 9983671518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TTe’ T 37T BT 2
Options:

1. % edls

2 » arEdlEe

3_ w Ay

Question Number : 194 Question Id : 9983671519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FT FET 9T &

Options:



Question Number : 195 Question Id : 9983671520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HITET FT HY T FgT 21T &

Options:

1. = %Fm
o ';rm:
3_ 4 En.

Sub-Section Number: 3
Sub-Section 1d: 99836780
Question Shuffling Allowed : Yes

Question Id : 9983671521 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Question Label : Comprehension
A fedr o1 seErer @ ggeR I T WeAl & 3ok Anerv|

HIAaY @ T g2 3T Ig1 careg Afeuar & vear g
3r 7 Afuar 9 F & TR W oET I &1 ==
frrwarst 7 & g FfRvar Fr & 39T T e &
T=ET g1 e Saer BfEuar amwet fr § 39 & Bfar
AAST BERIT &1 8 gl g 3 FaF 8 WO TH T
g § & srorr-3temT T AR R gwpfaar &
giafATaeT FTaT Tefl HerRT-3eeT ATW3T Fr 399 # s F
FTH FIar ¢ Teodr S9T| 9T &7 F5 AT F 7T AT,
T TS 3T TSN F §F H HIAT TAH I Il Toh
AT 797 fe=dr & 1 ST Hepsw #r Afae AR SiEE
TIATdT I A giar g 1T & H19 F 3cTeA gl el
o BHNT HERIa &1 aifcriierar $r 9g=er &1 aRuma & 2

Sub questions

Question Number : 196 Question Id : 9983671522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATy T TEY FIr T &
Options:

1. » TEfeear

3, v Tfauar 7 T

Question Number : 197 Question Id : 9983671523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TOTIT-370T9T ATHIHT &I JTTH H FSH F1 FIH Hia O
STST LT 872



Options:

1. » T&pd

4, v &=

Question Number : 198 Question 1d : 9983671524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT fFHerT o 2T 27

Options:

1. » #ARAMEF AR §ifgF Razar
7 o ARAEF AR §ifEE =aeEar
3« ANRF Tadeadl

A » $iTF T=a=aar

Question Number : 199 Question Id : 9983671525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITEATT F 39w o gam:
Options:

1 » ST 1 s afdreg

9 ST F e afdeeg



3. % oI s HTETAT FHEDT

4 » $RT W AP HAE

Question Number : 200 Question Id : 9983671526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fifges &7 37T BaTe:

Options:

1. » feamm
3@*%3'7

4, & THE

Question Id : 9983671521 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



A= o =TT IrE@rer T ugH @ T oAl F 3o’ ST

ATy Fr gy g2 Fvar ogr careg RfYvar # vear §
3t a7 RfEFuar A= & &7 T&Y W ST ST g1 Sehr
rwarst & & g Tfvar Fr o H9aT T e &
T &1 T Torae fataerar st Fr & 3aer & Sfaear
AAST HEFIAT FT & g1 W 57 FES AT FIH GH G
Tg & & srerer-seer Ter HR Rfees gwpaar &
gfafafeeT Fdr T FTe-37a1eT 993 FF 39T J AST F
FH FIAr ¢ By 99T 9T &7 F5 AWt F Jey IS,
TIF A9 AR TSEHT F T F TS T g9 I TF
AT &7 fger & g1 ST #psg dr At AN sitew
TaedT S A& BIaT g A1 & AT ¥ 390 gt arer
ofFd AN Ty Fr aifceiear Fr og=ne F afona o g

Sub questions

Question Number : 196 Question Id : 9983671522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATy T Ja8 g2 T &

Options:
1. = REfEuar
2. w Whdl

4. = THar & BfEear

Question Number : 197 Question Id : 9983671523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HSTI-37ST9T ATHIHT T HTH H S FH HH Hid &

HTST FTar 872
Options:

1. « e
2 g Apd
3. % 3T

4. v Te==r

Question Number : 198 Question Id : 9983671524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS TFHeRT T BT 27

Options:

1. » F=EF 3R §ifgs wavar

2. o #EEE AR §ifes maeaar

3. INIRE Tdear

Question Number : 199 Question Id : 9983671525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITEATT F 39w o gam:



Options:

ST T Y SfRrseg

1. ¢

2y T s afireg

3w #RT Hr ATERT GHEE

4 ST W WEpIce THE

Question Number : 200 Question 1d : 9983671526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FifgF &1 37T g

Options:

1., v fewrh



